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- . 4 5 6 7 8 9 10 11 | 12 1 2 3 || I T
el o o o< o< a4 o4ao a4 <ao<a o«
<) BB IR o<1 <) a0 gl o«a) o< < a1 <1 o<1 o« <o«
gl o o< a0 a4 a4 o< <4 <1 <a < <Ao<
Bl <01 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1| <0.1 <0.1| <0.1 <0.1| <0.1
bt () HIE| <0.1) <0.1 <0.1] 0.1 <0.1 <0.1| <0.1 <0.1 <0.1| <0.1 <0.1| <0.1|<0.1 <0.1|<0.1
SEH| <001 <0.1] <0.1) <0.1) <0.1) <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1
B feE| 0.77 0.72) 0.87 0.61 0.72 0.77 0.78 0.73| 0.75 0.81] 0.80 0.82
% m i g(mg/L) BA%| 0.55 0.49 0.53 0.55 0.57 0.66 0.66 0.64| 0.66 0.65 0.68 0.66/0.87 0.49 0.68
SEH| 0.62) 0.64) 0.64 0.58 0.68 0.71| 0.72| 0.69| 0.70 0.71| 0.72| 0.77
W H R
A = | =
- . 4 5 6 7 8 9 10 11 | 12 1 2 3 |k | AR
el o a4 a4 a4 a0 a4 < a <4 o«
= EoOgE) REl o< o« o< o o< a0 < o< o< o<aoafoaloa o«
gl o<1 <1 < <1 <1< <1 <1 < < oA«
B €0.10 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
& BEO(BE) HiE| <001 <01 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1[<0.1 <0.1/<0.1
SEH| 0.1 <0.10 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
iEl 0.74) 0.77) 0.77 0.81) 0.81 0.84 0.87 0.79 0.78| 0.87 0.83 0.83
% m i ji%(mg/L) BA%| 0.68 0.67 0.59 0.71 0.75 0.72 0.68 0.76 0.73 0.75 0.71 0.70|0.87 0.59|0.76
SEH| 0.710 0.74) 0.72) 0.75 0.78 0.76| 0.76/ 0.78 0.75 0.81| 0.76 0.77
gt O JH
)EJ H& | 2
i h 4 5 6 7 8 9 10 11 | 12 1 2 3 || B T
el o o < o< a4 a4 a a4 < o<a o«
@, BB K| o<1 <) o oal o«a) o< <« <a) <1 <1 <)o« <o«
o o<1 a4 a4 a4 o< <4 <1 < < <Ao<
| <0.1) <0.1 <0.1 <€0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
o] () M| <0.1) <0.1 <0.1] <0.1) <0.1 <0.1| <0.1 <0.1 <0.1| <0.1 <0.1| <0.1|<0.1 <0.1|<0.1
S| <0.10 <0.10 €0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
3 I 0.68 0.66 0.73 0.75 4.00 0.67 0.67 0.67| 0.70 0.76 0.74 0.73
g % i g(mg/w HeA%| 0.62 0.61 0.52 0.66 0.53 0.58 0.61 0.62 0.64 0.66 0.67 0.62|4.00 0.52|0.66
SEH| 0.66) 0.63 0.65 0.71 0.60 0.62| 0.65 0.65 0.67 0.71 0.70 0.66

68




HOHE R

5 . g 4 5 6 7 8 9 10 11 | 12 1 2 3 | AR
el o o o< a4 a4 oao a4 < <a o«
@, BB % o< <) a0 <) o« o< < a1 <1 o<1«
o o< a4 a4 o< <4 < < < <Ao<
| <0.1) <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
o] EEO(EE) HIE| <0.1) <0.1 <0.1] <0.1) <0.1 <0.1| <0.1 <0.1 <0.1| <0.1 <0.1| <0.1|<0.1 <0.1|<0.1
S| 0.1 <0.10 €0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
B feE| 0.68 0.78 0.80 0.72 0.84 0.81 0.74 0.77| 0.84 0.87| 0.84 0.88
g 2 i %(mg/L) HeA%| 0.63 0.60 0.66 0.66 0.67 0.68 0.67 0.69 0.71 0.75 0.70 0.71/0.88/0.60 0.73
SEH| 0.66) 0.64 0.720 0.70 0.75 0.77| 0.71| 0.72] 0.74 0.82| 0.74 0.80
v E R
)EJ ISR =]
- . 4 5 6 7 8 9 10 11 | 12 1 2 3 | & RAL KLY
BEl o o o« o<a o< o<a <) o< o< o< o<alo«<a
=) BEOE) RIE| <1 o< <) < o< <) < < < <o) o« o< oap o«
Yyl o<1 <1 < <1 <1 <1 <1 < < < <o«
e <01 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
#) FEO(BE) BAE| <001 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1[<0.1 <0.1/<0.1
SEH| 0.1 <0.10 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
fe| 0.77 0.74 0.71 0.72 0.71 0.73 0.74 0.76 0.86 0.89 0.82 0.81
iﬁ m i j%g(mg/L) BA%| 0.73 0.67 0.51 0.58 0.63 0.62 0.69 0.67| 0.75 0.78 0.75 0.74[0.89/0.51 0.73
S| 0.75) 0.71 0.63 0.65 0.67 0.68 0.72| 0.74| 0.81 0.82| 0.77 0.76
KEE =4 —&EHIT
g4 i ek SRR ®’OE %O
B WE R MR BUEAHET 1 TH ERTAREA
O OE o ‘ HEE1TH 8HEARRN
et A R A 44 )1 K 5 % - —
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2) Fhlr i K 5 SR G K AR K
Pl i AR R dn AKEE K (2D 1)

A
A 4 5 6 7 8 9
— kS Al (CFU/m1) 0 0 0 0 0 0
KX i - - = = = =
| <0.001  <0.001 <0.001 <0.001  <0.001 <0.001
m Ok O F o b A W (mg/L) H&IE[ <0.001] <0.001 <0.001 <0.001 <0.001  <0.001
SE#J| <0.001)  <0.001) <0.001 <0.001  <0.001  <0.001
ba <0. 03 <0.03 <0.03 <0.03 <0.03 <0.03
% kK O = o 1 A& W (mg/l) K <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
S <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
| <0.001  <0.001 <0.001 <0.001  <0.001 <0.001
~ v v KO E O AW (mg/L) &IE&|l <0.001  <0.001 <0.001| <0.001  <0.001  <0.001
SEl <0.001 <0.001  <0.001| <0.001 <0.001  <0.001
= 12.8 14.6 13.8 7.6 13.2 14. 1
i) = ¥ A % v (mg/L) HAK 12.8 11.8 9.7 7.2 9.8 12.5
¥ 12.8 13.2 11.8 7.4 11.5 13.3
= 0.9 0.8 0.9 0.6 0.8 0.8
H % W (TOC) (mg/L) | mIX 0.9 0.8 0.7 0.6 0.7 0.8
DA 0.9 0.8 0.8 0.6 0.8 0.8
i 7.58 7.58 7.61 7.5 7.63 7.59
pH & b4 li 7.58 7.57 7.56 7.50 7.53 7.58
S 7.58 7.58 7.59 7.54 7.58 7.59
S B U B U BEnl Bl Byl Bl
B HBEnaU | BEgel BEl Bl BEaL Byl
s €0.5 <0.5 <0.5 <0.5 <0.5 <0.5
@, () KK 0.5 <0.5 <0.5 <0.5 <0.5 <0.5
DA €0.5 <0.5 <0.5 <0.5 <0.5 <0.5
= 0.01 0.02 0.02 0.02 0.03 0.04
18 () &K 0.01 0. 01 <0. 01 0.01 <0. 01 0. 01
R 0.01 0.01 0.01 0.02 0.02 0.02
é/% s 0.73 0.74 0.74 0.79 0.71 0.77
w5 |1 i3 b33 4 Hi # (mg/L) &K 0.73 0.74 0.71 0.77 0.67 0.75
H w073 074 0.73  0.78  0.69  0.76
n = 0. 80 0.79 0.79 0.83 0.77 0.83
w |7 o i) F#& (mg/L) &K 0. 80 0.79 0.79 0.82 0.75 0. 80
o S 0. 80 0.79 0.79 4,00 0.76 0.82
“TE E m & Km0, W T & ) (ng/L) 1.0 0.9 0.8 0.8 0.5 0.7
= 15.3 22.3 25.5 26.2 30. 7 29. 6
7K B (C) |k 15.3 20.5 24.3 23.9 28.3 27. 1
S 15.3 21.4 24.9 25.0 29.5 28. 4
i 34.8 39.2 39.8 31.5 41.8 39.8
7 S el ) B (mg/L) &K 34.8 37.7 33.8 31.2 35.7 39.2
— S 34.8 38.5 36. 8 31.4 38.8 39.5
i3 e (mg/L) 2.9 1.6 1.2 2.2 1.3 1.2
fiF§ 173 5 = # (mg/L) 1.01 0.99 0.68 0.59 0. 66 1. 07
i [ IS A 7 > (mg/L) 18.5 19. 1 16.8 15. 4 16. 4 18.0
A Y A [ (mg/L) 29 31 30 23 26 27
~ 7 x ¥ v A @ E (ng/L) 8 9 8 7 7 9
- i 16. 4 18.0 17.3 13.4 18.4 18.1
- | £ = i R (mS/m) | F K 16. 4 16. 2 14.7 13.2 15.2 17. 4
S 16. 4 17. 1 16.0 13.3 16.8 17.8
" 1+ 73 % (mg/L) 9.4 7.6 6.8 6.9 6.0 5.8
B 1) 0.026 0. 028 0. 024 0. 024 0. 031 0. 029
E'S St fis % b 33 BG5S 0. 026 0.026 0. 024 0.021 0.023 0.026
S 0.026 0. 027 0. 024 0. 023 0. 027 0. 028
2 K o~ v F v W F (ng/l) 0.019 0. 029 0. 027 0. 004 0. 026 0. 033
#0% s ( ® E ) (mg/L) 0.001 <0.001 0.001 <0.001 0.001 0.001
7 Y 7 b A2 A& U ¥ U A (EHo0) 0 0
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10 11 12 1 2 3 EIES 54 AR NS5
0 0 0 0 0 0 23 0 0 0
— — — — — — 23 — — —
<0.001] <0.001 <0.001| <0.001| <0.001 <0.001
<0.001| <0.001  <0.001| <0.001| <0.001  <0.001 23 <0.001  <0.001 <0.001
<0.001| <0.001 <0.001| <0.001| <0.001  <0.001
<0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
<0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 23 <0. 03 <0. 03 <0. 03
<0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
<0.001| <0.001 <0.001 0.001  <0.001| <0.001
<0.001| <0.001 <0.001  <0.001 <0.001  <0.001 23 0.001| <0.001  <0.001
<0.001| <0.001 <0.001| <0.001| <0.001  <0.001
10. 3 14.7 15.7 16.4 16.0 12.4
8.6 13. 1 14.0 15.4 14.7 10. 6 23 16.4 7.2 12.6
9.5 13.9 14.9 15.9 15. 4 11.5
0.8 0.8 0.9 1.0 0.9 0.7
0.7 0.7 0.8 0.9 0.8 0.7 23 1.0 0.6 0.8
0.8 0.8 0.9 1.0 0.9 0.7
7.58 7.58 7.57 7.53 7. 60 7.59
7.52 7.57 7.48 7.51 7.58 7.55 23 7.63 7.48 7.56
7.55 7.58 7.53 7.52 7.59 7.57
B/ BEhL BEHRL BEal BEel BEeL 23 BERL
B/ U Byl BEhl BEal BEel BEeL 23 HERL
<0.5 <0.5 <0.5 <0.5 <0.5 <0.5
<0.5 <0.5 <0.5 <0.5 <0.5 <0.5 23 <0.5 <0.5 <0.5
<0.5 <0.5 <0.5 <0.5 <0.5 <0.5
0. 02 0. 01 0. 02 0. 05 0. 02 0. 01
<0. 01 <0. 01 <0. 01 0.01 <0. 01 <0. 01 23 0.05 <0. 01 0.01
0. 01 <0. 01 0. 01 0.03 0. 01 <0. 01
0.77 0.83 0.79 0.76 0.78 0.78
0.75 0.75 0.76 0.75 0.75 0.77 23 0.83 0.67 0.75
0.76 0.79 0.78 0.76 0.77 0.78
0. 82 0. 88 0. 86 0.82 0.83 0.84
0. 80 0. 81 0. 81 0.82 0.82 0.82 23 0.88 0.75 0.81
0. 81 0. 85 0. 84 0.82 0.83 0.83
0.6 0.6 1.0 1.1 0.8 0.6 12 1.1 0.5 0.8
22.6 18.0 15. 1 10. 2 11.9 14.9
20. 2 17.8 11.4 8.2 10.0 12.2 23 30. 7 8.2 19.2
21.4 17.9 13.3 9.2 11.0 13.6
34.8 39. 2 39.7 35. 8 35.8 34.0
32.1 38.6 36. 4 34.0 34.8 33.9 23 41.8 31.2 36. 2
33.5 38.9 38.1 34.9 35.3 34.0
1.2 1.7 3.9 4.0 1.7 1.7 12 4.0 1.2 2.1
0.78 1.13 1.06 1.19 1.30 0.73 12 1.30 0. 59 0.93
17.1 19.6 20. 1 20. 5 22.1 17.2 12 22.1 15. 4 18.4
25 31 32 33 32 30 12 33 23 29
7 9 9 9 9 8 12 9 7 8
15. 6 18.2 18.3 18.2 18.5 15.9
14.3 17.6 17.8 17.6 17.4 15.0 23 18.5 13.2 16.6
15.0 17.9 18.1 17.9 18.0 15.5
7.8 9.1 10.0 12.2 11.7 11.4 12 12.2 5.8 8.7
0.032]  0.029]  0.031 0.035  0.030  0.025
0.026  0.026  0.028  0.035  0.028  0.024 23 0.035  0.021 0. 027
0.029/  0.028/ 0.030  0.035  0.029  0.025
0.022]  0.018] 0.022 0.015 0.032  0.022 12 0.033  0.004  0.022
0. 001 0. 001 0. 001 0. 001 0.001| <0.001 12| 0.001] <0.001 <0.001
0 0 4 0 0 0
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TR KRR KK (2 2)

4 5 6 7 8 9
HH
BRI LEARXZE OO E W (mg/L) <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003
Ko K W F o b A& ¥ (ng/L) <0. 00005 <0. 00005 <0.00005| <0. 00005 <0. 00005 <0. 00005
L v kO FE O A& W (ng/l) <0.001| <0.001  <0.001/ <0.001 <0.001  <0.001
#z & O F O b A& W (ng/L) <0.001| <0.001 <0.001| <0.001| <0.001  <0.001
N oMl oz v A b A& W (ng/L) <0.002 <0.002 <0.002  <0.002| <0.002| <0.002
ik i i T = e <0.004  <0.004  <0.004, <0.004 <0.004  <0.004
ST b A A kO LY T v (mg/L) <0.001| <0.001  <0.001| <0.001| <0.001  <0.001
i s fE 22 R & OV Hf A 8 e = £ (mg/L) 1.01 0.99 0. 68 0.59 0.66 1.07
7 v F &k O ZE O A& % (ng/l) <0. 08 <0. 08 <0. 08 <0. 08 <0. 08 <0. 08
x v F K X E 0O A W (ng/L) <0.1 <0.1 <0.1 <0.1 <0.1 0.1
y iy it R # (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 <0.0002 <0.0002
L4 — ¥ F xF ¥ v (mg/L) <0.005| <0.005| <0.005 <0.005 <0.005  <0.005
f;‘ ;1’127_1";@‘:’;;35; {%9 (mg/L) <0.004 <0.004 <0.004 <0.004 <0.004  <0.004
wl¥y 7 = o R & v (mg/L) <0.002| <0.002| <0.002 <0.002  <0.002  <0.002
F + % 7 moum = F L > (ng/L) <0.001| <0.001 <0.001| <0.001| <0.001  <0.001
KU 7 v m = F L ¥ (mg/l) <0.001| <0.001 <0.001| <0.001| <0.001  <0.001
R N + > (mg/L) <0.001| <0.001 <0.001| <0.001| <0.001  <0.001
1 e #= s (mg/L) <0. 06 <0. 06 <0. 06 <0. 06 0.07 <0. 06
7 = o 3 e (mg/L) <0.002  <0.002 <0.002/ <0.002  <0.002  <0.002
7 =t = AR L 2 (mg/L) <0. 001 0. 001 0. 003 0.003 0. 004 0. 004
g | ¥ % = = e i (mg/L) <0. 003 0.003  <0.003  <0.003 0.003 <0.003
Y 7 m o® s v onun A % v (ng/L) 0. 002 0. 007 0. 006 0.003 0. 005 0. 007
5= ES B%  (mg/L) 0. 003 0. 003 0. 002 0.002  <0.001 0. 004
wo0r U N o m Az % v (mg/L) 0. 005 0.015 0.016 0. 009 0.015 0.019
SRS D) 7 = 2 FE B (mg/L) <0.003  <0.003 <0.003 <0.003 <0.003  <0.003
7 n £ ¥ 7 o A % v (ng/L) 0. 002 0. 004 0. 005 0.003 0. 005 0. 006
7 =t £ A JL 2 (mg/L) 0. 001 0.003 0.002| <0.001 0. 001 0. 002
A A A 7T A F b F (mg/L) <0.008| <0.008 <0.008 <0.008 <0.008  <0.008
WO & O o b & W (mg/L) 0.1 <0.1 0.1 <0.1 <0.1 <0. 1
TNLVI=2U AR OZ0EY (g/L) 0.03 0.03 0.03 0.02 0.02 0.03
W Kk O = o b A& ¥ (mg/L) 0.1 <0.1 0.1 <0.1 <0.1 <0. 1
F PV U AR OEDOIE W (ng/L) 14.5 16.8 16.2 12.0 14. 4 17.2
AT T A~ T3 L% (EE) (ng/L) 37 40 38 30 33 36
7R ¥ V35 ® ¥ (mg/L) 96 95 116 79 91 99
2 A4 A v B m & % Al (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
¥ - *+ 2 2 > (ng/L) <1 <1 <1 <1 <1 <1
2- A F A VAN X F — L (ng/l) <1 <1 <1 <1 <1 <1
¥ A4 A v K om & M Al (mg/L) <0.005  <0.005  <0.005 <0.005 <0.005  <0.005
7 - J — JL #H (mg/L) <0. 0005 <0.0005| <0.0005 <0.0005 <0.0005 <0.0005
T FE R RYZEDOE W (ng/L) <0. 002 <0. 002
7 T v kY FE O kA W (ng/L) <0. 0002 <0. 0002
= v Fr Nk OZE 0O E W (gL <0. 002 <0. 002
L,2- ¥ 7 m v = X% v (mg/L) <0. 0004 <0. 0004
k JL @ > (mg/L) <0. 04 <0. 04
THENLEBY - F~F ) (ng/L) <0. 008 <0. 008
(=il o) F e (mg/L) <0. 06 <0. 06
Bl 7 v v 7% k= F U 2 (mg/l) <0. 001 <0. 001
Eﬁ Wk s w5 — A (mg/l) <0. 002 <0. 002
a;’; = R *H <1 <1
= |1 THfe R f: (mg/L) 2.6 1.4 1.1 1.9 1.1 1.1
m|L,L,1- 8 U 7 v 8w x ¥ v (mg/l) <0. 03 <0. 03
H|#AFV-t-7F L= —F )L (MBE) (mg/L) <0. 002 <0. 002
5= S GER E (TON) 1 1 1 1 1 1
2, A V- -1.4 -1.2 -1.1 -1.5 -1.2 -1.1
e = K = At & (CFU/m1) 0 0
,1 — Y 27 g nu = F L » (gl <0.01 <0. 01
R SR S ST e 1 19

72




10 11 12 1 2 3 [EIEs R il T

<0.0003] <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 12] <0.0003 <0.0003 <0.0003
<0. 00005 <0. 00005 <0.00005 <0.00005 <0.00005 <0.00005 12 <0. 00005 <0. 00005 <0. 00005
<0.001  <0.001 <0.001 <0.001 <0.001  <0.001 12 <0.001 <0.001  <0.001
<0.001  <0.001  <0.001 <0.001  <0.001  <0.001 12 <0.001  <0.001  <0.001
<0.002  <0.002 <0.002  <0.002 <0.002  <0.002 12 <0.002) <0.002) <0.002
<0.004  <0.004  <0.004  <0.004  <0.004  <0.004 12 <0.004  <0.004  <0.004
<0.001  <0.001 <0.001 <0.001 <0.001  <0.001 12 <0.001 <0.001  <0.001
0.78 1.13 1. 06 1. 19 1. 30 0.73 12 1. 30 0.59 0.93
<0.08)  <0.08  <0.08  <0.08  <0.08 0.08 12 0.08  <0.08  <0.08
<0.1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 12 <0. 1 <0.1 <0. 1
<0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 12| <0.0002 <0.0002 <0.0002
<0.005  <0.005 <0.005 <0.005 <0.005  <0.005 12 <0.005  <0.005  <0.005
<0.004  <0.004  <0.004 <0.004  <0.004  <0.004 12 <0.004 <0.004  <0.004
<0.002  <0.002  <0.002  <0.002  <0.002  <0.002 12 <0.002  <0.002  <0.002
<0.001  <0.001 <0.001 <0.001 <0.001  <0.001 12 <0.001 <0.001  <0.001
<0.001  <0.001  <0.001 <0.001  <0.001  <0.001 12 <0.001  <0.001  <0.001
<0.001  <0.001 <0.001 <0.001 <0.001  <0.001 12 <0.001 <0.001  <0.001
0.10 0.06  <0.06  <0.06  <0.06  <0.06 12 0.10  <0.06  <0.06
<0.002  <0.002 <0.002  <0.002 <0.002  <0.002 12 <0.002) <0.002) <0.002
0.004 <0.001  0.001 <0.001 <0.001  <0.001 12 0.004 <0.001  0.002
<0.003  <0.003  <0.003  <0.003  <0.003  <0.003 12 0.003 <0.003  <0.003
0.004  0.003  0.006  0.003  0.002  0.002 12 0.007  0.002  0.004
0.002  0.004  0.002  0.002  0.002  0.003 12 0.004 <0.001  0.002
0.013  0.005  0.013  0.005  0.003  0.003 12 0.019  0.003  0.010
<0.003  <0.003  <0.003  <0.003 <0.003  <0.003 12 <0.003  <0.003  <0.003
0.005  0.002  0.003  0.002  0.001  0.001 12 0.006  0.001  0.003
<0.001  <0.001  0.002 <0.001 <0.001  <0.001 12 0.003 <0.001  <0.001
<0.008  <0.008 <0.008 <0.008 <0.008  <0.008 12 <0.008  <0.008  <0.008
<0.1 <0. 1 <0.1 <0. 1 <0.1 <0. 1 12 <0. 1 <0.1 <0.1
0.02 0. 02 0.03 0.03 0.03 0. 02 12 0.03 0.02 0.03
<0.1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 12 <0. 1 <0.1 <0.1
12.5 15. 7 16. 7 16.2 16. 6 13.6 12 17.2 12.0 15. 2

32 40 41 42 41 38 12 42 30 37

84 101 101 99 105 91 12 116 79 96
<0.02  <€0.02] <€0.02 <0.02]  <0.02  <0.02 12| <0.02  <0.02  <0.02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1

<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<0.005  <0.005 <0.005  <0.005 <0.005  <0.005 12 <0.005  <0.005  <0.005
<0.0005  <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 12| <0.0005 <0.0005 <0.0005
<0. 002 <0. 002 4 <€0.002  <0.002 <0.002
<0. 0002 <0. 0002 4] <0.0002 <0.0002 <0.0002
<0. 002 <0. 002 4 <€0.002  <0.002  <0.002
<0. 0004 <0. 0004 4 <0.0004 <0.0004 <0.0004
<0. 04 <0. 04 4 <0.04  <0.04  <0.04
<0. 008 <0. 008 4 <€0.008 <0.008  <0.008
<0. 06 <0. 06 4 <0.06  <0.06  <0.06
<0. 001 <0. 001 4 <€0.001 <0.001  <0.001
<0. 002 <0. 002 4 <€0.002  <0.002  <0.002
<1 <1 4 <1 <1 <1

1.1 1.5 3.4 3.5 1.5 1.5 12 3.5 11 1.8
<0.03 <0. 03 4 <€0.03  <0.03  <0.03
<0. 002 <0. 002 4 <€0.002  <0.002  <0.002
1 1 1 1 1 1 12 1 1 1

-1.4 -1.3 -1.3 -1.5 -1.4 1.4 12 -1 -1.5 -1.3

2 0 4 2 0 1

<0. 01 <0. 01 4 <€0.01  <0.01  <0.01
16 7 4 19 7 14
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PR RS R e AREE K (2D 3)

s 5 7 10 2 El | R RIE T

HH

1,3—y7uauara~X2 (D—D) (mg/L) | <0.0005/ <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
22 —DPA (X 7&K ) (mg/l) <0.0008| <0.0008| <0.0008| <0.0008 4| <0.0008  <0.0008| <0.0008
24 — D (24 — P A ) (mg/L)| <0.0002 <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
E P N (mg/L) | <0.00005 <0.00005| <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
M C P A (mg/L) | <0.0003 <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
T v = = 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
T +* 7 - —  (mg/L) | <0.00006 <0.00006| <0.00006/ <0.00006 4| <0.00006| <0.00006 <0.00006
7 k 7 4 > (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 = =4 N A (mg/L) | <0.00005/ <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
T N S = A (mg/L) | <0.0003  <0.0003  <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 = 4 = — JL (mg/L) | <0.0003| <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
A4 Y F Y F A  (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
A4 Y 7 = ¥ A& A (mg/L)| <0.00003 <0.00003| <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
AV 7ahr7 (MIPC) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
AV 7aFF 7 (IPT) mg/L) <0.003 <0.003 <0.003 <0.003 4 <0. 003 <0. 003 <0. 003
A4 7 XK A(IBP) (mg/L) <0.0009| <0.0009| <0.0009| <0.0009 4| <0.0009  <0.0009| <0.0009
A4 2 7 7 & ¥ v (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006 <0.00006
A4 ¥ KX /7 7 7 ¥ (mg/L)| <0.00009 <0.00009 <0.00009 <0.00009 4| <0.00009| <0.00009 <0.00009
— X 7 v H 7 (mg/L)| <0.0003  <0.0003 ~ <0.0003| <0.0003 4| <0.0003| <0.0003  <0.0003
= N 7 = ¥ 7 ma v 7 A (mg/L)| <0.0008 <0.0008  <0.0008 <0.0008 4| <0.0008| <0.0008/ <0.0008
TURZNNT 7o (R ) (mg/L) | <0.0001  <0.0001  <0.0001  <0.0001 4 <0.0001| <0.0001| <0.0001
F F ¥ ¥ 7 g R A (mg/L)| <0.0002 <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
T X > 8 (A ¥ 8 ) (ng/L) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
= U B X k2 B ¥ (mg/L)

Vil z B N A (mg/L) | €0.000006| <0.000006| <0. 000006/ <0.000006 4| <0. 000006 <0. 000006/ <0. 000006
B 7 x= ¥ A kv — JL (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008 <0.00008
7 v o D4 7" (mg/L)

B N U b (N A C ) (mg/L)| <0.0003 <0.0003| <0.0003 <0.0003 4| <0.0003| <0.0003| <0.0003
77 Y Z v (mg/L) [ <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
¥ /7 732 (A CN ) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005/ <0.00005
% x - i v (mg/L) <0. 003 <0. 003 <0. 003 <0.003 4 <0. 003 <0. 003 <0. 003
Y S 1% =d > (mg/L) | <0.0003| <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
v U AN B —  (mg/L) 0. 02 0. 02 €0. 02 0. 02 4 <0. 02 <0. 02 <0. 02
7 v R Y 3% — b (mg/L)| <0.0002 <0.0002  <0.0002 ~ <0.0002 4| <0.0002| <0.0002|  <0.0002
7 o m A 7 v v 7 (mg/L)| <0.0002  <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
sl =ra 7= (CNP) (mg/L)| <0.0001 <0.0001  <0.0001| <0.0001 4 <0.0001| <0.0001| <0.0001
7 m b B U R A (mg/L)[| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
smua o=/, (TPN) mL)|[ <0.0005 <0.0005 <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
D4 7 > D4 > (mg/L) | <0.00001| <0.00001 <0.00001| <0.00001 4| <0.00001| <0.00001| <0.00001
> 7 J A A (CY AP ) (mg/L)| <0.00003 <0.00003 <0.00003| <0.00003 4| <0.00003| <0.00003 <0.00003
v nra Yy (DCMU ) (mg/L)| <0.0002 <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
Y7 X=)(DBN) (mg/lL) <0.0003| <0.0003| <0.0003| <0.0003 4/ <0.0003| <0.0003  <0.0003
7 ma )R A (DDVP) (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008 <0.00008
¥ 7 1Z D k (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
AR I (= F )V F A ARL) (mg/L) | <0.00004| <0.00004| <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
CFF I N A— R A (ng/L)

D% I 7 | JL (mg/L) | <0.00009 <0.00009| <0.00009 <0.00009 4 <0.00009| <0.00009| <0.00009
oo m ok vy 7 7 F b (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006/ <0.00006
v o= ¥ v (. C A T ) (mg/L)| <0.00003 <0.00003 <0.00003| <0.00003 4| <0.00003| <0.00003 <0.00003
v X X A Kk U v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4/ <0.0002| <0.0002|  <0.0002
D% A K - — ~ (mg/L) | <0.0005  <0.0005/ <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
¥ A k D) > (mg/L) | <0.0003| <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
v A T D4 J > (mg/L) | <0.00003| <0.00003| <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
v A VN i v (mg/L) <0.008 <0.008 <0.008|  <0.008 4 <0. 008 <0. 008 <0. 008
AN AR NI —23 ) e OAF (ng/L)

WAV FFH LT 2=k
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- s 5 7 10 2 E R RIE P
S e ¥ = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
SF 7 S 2 (mg/L) | <0.0002| <0.0002| <0.0002|  <0.0002 4| <0.0002| <0.0002|  <0.0002
F 4 ¥ J b 7 (mg/L)| <0.0008  <0.0008  <0.0008  <0.0008 4| <0.0008| <0.0008  <0.0008
F A 7 7 — K A F )L (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
F & N v v 7 (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 7 U v b U F v (mg/L)

T T AT (MBPMC) (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
[N ) V4 =4 = JL (mg/L) | <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006/ <0.00006
FY Zwma k> (DEP) (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
U Yy Z T — b (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
KU 7 o Z U v (mg/L)| <0.0006/ <0.0006 ~ <0.0006  <0.0006 4| <0.0006| <0.0006/ <0.0006
7+ A = A N R (mg/L) | <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A = = — k (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
= ~ =4 IR A (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005 <0.00005
= = 7 =] = L (mg/L)

7 Y ¥ ¥ 7 = » (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
IV YR —hk (YL —hK) (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
U X 7 = v F F  (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
vy 7 F H v 7 (mg/L)| <0.0002] <0.0002 ~ <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
= =4 ¥ = > (mg/L) | <0.0005 <0.0005 ~ <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
7 € A = = JL (mg/L) | <0.000005| <0.000005 <0.000005 <0.000005 4| <0.000005| <0.000005| <0. 000005
Zx=hruaF At (MEP) @mg/)| <0.0001 <0.0001  <0.0001 <0.0001 4| <0.0001| <0.0001| <0.0001
7 /)7 H)L T (BPMC) (mg/L)| <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
7 = U N ' v (mg/L)

7 xr F A (MPP) (mg/L)| <€0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006 <0.00006
7z — K (PAP) (mg/L)| <€0.00007 <0.00007 <0.00007 <0.00007 4| <0.00007| <0.00007 <0.00007
7 = v b T F I K (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001 4 <0.0001| <0.0001| <0.0001
7 A = A K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
7 % 4 = — JL (mg/L)| <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
7 vl g 7N A (mg/L) | <0.0002| <0.0002| <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 7 um 7 = ¥ v (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 v 7 ¥ A (mg/L)| <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
7 v F T 7 v — Jb (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
- =] D4 =4 K > (mg/L) <0.0009| <0.0009  <0.0009| <0.0009 4/ <0.0009| <0.0009  <0.0009
7 u F A &K A (mg/L)

7 m v =2 Y — b (mg/L)| <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
A = = A N K (mg/L) | <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
7 v X S Y — ) (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003  <0.0003| <0.0003
7 =i £ 7 I K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~ J R JL (mg/L) | <0.0002]  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002| <0.0002
~ Nz 2 4 = v (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
N v Y v v 7 v v (mg/L)| <0.0009 <0.0009  <0.0009  <0.0009 4| <0.0009| <0.0009| <0.0009
~N v Y 7 = F w7 (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
~ v i ' > (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
N T 4 A KX U v (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
~N T Z JL 7 (mg/L)| <0.0004 <0.0004  <0.0004  <0.0004 4| <0.0004| <0.0004| <0.0004
N7 (X2 ) (mg/L) | <0.0001  <0.0001  <0.0001  <0.0001 4| <0.0001| <0.0001| <0.0001
~N v 7 L & — b (mg/L)| <0.0007 <0.0007  <0.0007  <0.0007 4| <0.0007| <0.0007,  <0.0007
A A F 7 £ — b (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
~ 7 F A (~F Y ) (mg/l) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
Aa 7 uay 7 (MCPP) (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
A Y S JL (mg/L) | <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A A 7 % > )L (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
AF X F F > (DMTP) (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
A K~ I J A b m B ¥ (ng/L)| <0.0004 <0.0004  <0.0004  <0.0004 4 <0.0004| <0.0004| <0.0004
A k ) 7 ¥ > (mg/L) | <0.0003| <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A 7 = F v b (mg/L) <0.0002| <0.0002  <0.0002| <0.0002 4 <0.0002| <0.0002  <0.0002
A A =4 = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
S D) s — ~ (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
=3 $E $H  (mg/L) <1 <1 <1 <1 4 <1 <1 <1
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3) BrAhAEARFEM SR KSR ifa KRRk
Jeli g 7k g A e AR K

A
. 4 5 6 7 8 9
— i M B (CFu/ml) 0 0 0 0 0 0
N % = = = = = =
| <0.001]  <0.001] <0.001] <0.001| <0.001| <0.001
M Kk O F o kA& W (mg/L) &IK| <0.001] <0.001| <0.001| <0.001 <0.001 <0.001
SEHI| <0.001  <0.001  <0.001  <0.001  <0.001  <0.001
BE <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
g% Kk O 2 O b A& B (g/l) | KK <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
¥ <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
| <0.001]  <0.001] <0.001] <0.001] <0.001] <0.001
~ v kO EONAAEY  (ng/L) BIE| <0.001] <0.001 <0.001| <0.001  <0.001| <0.001
SEHI| <0.001  <0.001  <0.001  <0.001  <0.001  <0.001
B5 12.7 15.3 14.2 11.1 13.5 15. 1
Bk W A i > (mg/L) FAX 10. 7 12.0 10. 1 7.4 10. 4 13.5
- 11.7 13.6 11.9 8.6 12.2 14.5
58] 0.8 0.8 0.8 0.7 0.7 0.7
H T L] (Toc)  (mg/L) #xI& 0.7 0.8 0.7 0.4 0.6 0.6
S 0.8 0.8 0.8 0.6 0.6 0.7
BE 7.59 7.68 7.61 7. 60 7.69 7.63
pH & 52158 7.51 7.50 7.48 7.46 7.54 7.48
-y 7.55 7.59 7. 54 7.52 7.58 7.53
S BEp U BEa L BEal BEaL BELRL BEsL
X B U Bl B U Bl Bl Byl
5 q] 0.5 0.5 0.5 0.5 0.5 0.5
i ()  HIK <0.5 <0.5 <0.5 <0.5 0.5 0.5
S 0.5 0.5 0.5 0.5 0.5 0.5
55 <0. 01 0. 02 0.03 0. 02 0.03 <0. 01
) E () | &I <€0. 01 0.01 <0. 01 <0. 01 <0. 01 <0. 01
N2 <0. 01 0. 02 0.01 <0. 01 0.01 <0. 01
éf'lj g 0.84 0.82 0.83 0.85 0.82 0.82
w|E OB & B B\ #F (/) K 0. 70 0. 65 0.53 0. 60 0.53 0. 59
B Sy 0.77 0. 74 0. 74 0.76 0.72 0.76
? B 0.88 0.87 0.87 0. 90 0.88 0.87
v 5% %’ #H F# (mg/L) &AX 0.76 0.70 0. 59 0. 66 0.58 0. 62
% ) 0. 82 0.78 0.79 4.00 0.78 0. 80
v lE B % KMno, T % & ) (mg/L) 1.0 0.9 0.8 0.8 0.5 0.6
B 15.3 24.7 25.3 26. 6 33.1 32.0
7K ol (C) | wix 15.0 21.4 24.6 23.1 28. 4 26.3
¥ 15.2 23.0 25.0 25. 4 30.9 29. 4
e 32.5 35. 4 34.8 29.0 34.5 32.3
7 Jb by ) B (mg/L) &K 30.0 31.9 30.0 25.6 29. 8 31.2
- S 31.2 33.6 32.0 27. 4 31.7 31.7
[ B (mg/L) 3.1 1.6 1.4 2.1 1.6 1.0
fiFi fig HE = #  (mg/L) 1.00 1.00 0.67 0.55 0. 64 1.01
e [ [ A 7 > (mg/L) 17.9 20. 1 21.5 16.8 19.8 26. 5
B v v A B (mg/L) 28 31 30 24 27 30
7 % ¥ v A i OJE (mg/L) 7 9 8 6 7 9
; 58] 16. 1 17.4 17.4 15.1 17.5 18.4
& = = L} £ @S/m) I 14.8 15.9 14.0 12.5 15.0 17. 4
S 15. 4 16.6 15.4 13.5 16.7 18.0
% 17 i3 % (mg/L) 10.8 9.4 8.7 8.8 7.9 7.7
H e 0.030  0.029  0.027  0.028  0.024  0.026
£ S ot e AR 0. 029 0.028 0. 024 0.017 0.019 0.023
S 0.030 0.028  0.026/ 0.023  0.022  0.024
L H B o~ o F v o E (ng/l) 0.024  0.038  0.028  0.012 0.025  0.036
ook oM o E (| OE ) (mg/L) 0.001 0.001 0.001  <0.001 <0.001 0.001
7 U 7 F A K U T v A (fEH/20L) 0 0
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10 11 12 1 2 3 [E1%% ey

P
t
&
Pz

<0.001| <0.001 0.001  <0.001} <0.001  <0.001
<0.001] <0.001] <0.001] <0.001] <0.001] <0.001 441 0.001 <0.001] <0.001
<0.001] <0.001] <0.001 <0.001] <0.001 <0.001

<0. 03 <0.03 <0.03 <0.03 <0.03 <0.03
<0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 44 <0. 03 <0. 03 <0. 03
<0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03

<0.001| <0.001} <0.001} <0.001} <0.001 <0.001
<0.001] <0.001] <0.001] <0.001] <0.001] <0.001 441 <0.001) <0.001 <0.001
<0.001] <0.001] <0.001 <0.001] <0.001 <0.001

14.8 15. 2 16.0 16. 7 16. 6 15. 1
9.5 12.9 14.3 14.5 12.5 11.0 44 16. 7 7.4 13.1
11.7 14.4 15.4 15.9 15.0 12.8
0.8 0.7 0.9 1.0 0.9 0.9
0.6 0.7 0.8 0.7 0.7 0.7 44 1.0 0.4 0.7
0.7 0.7 0.8 0.8 0.8 0.8
7.62 7.63 7.56 7.57 7.61 7.57
7.48 7.50 7.51 7.47 7.53 7.51 44 7. 69 7.46 7.55
7.54 7.54 7.54 7.53 7.56 7.54
BEa U BER L BELL BELL BELL BEsL 44 Bl L
iU Bl BEel BEe L B L B 44 HEERL
0.5 0.5 0.5 0.5 0.5 0.5
<0.5 <0.5 <0.5 <0.5 <0.5 <0.5 44 0.5 0.5 0.5
0.5 0.5 0.5 0.5 0.5 <0.5
0.01 0.02]  <0.01 0.01 <0. 01 <0. 01
<0. 01 <0. 01 <0. 01 <0. 01 <0. 01 <0. 01 44 0.03|  <0.01 <0. 01
<0. 01 <0. 01 <0. 01 <0. 01 <0. 01 <0. 01
0. 84 0. 84 0. 84 0. 90 0.87 0. 90
0. 62 0. 68 0. 70 0.75 0.73 0.73 44 0. 90 0.53 0. 70
0.76 0.79 0.79 0. 84 0.82 0.83
0. 90 0. 88 0. 87 0. 94 0.93 0.94
0. 68 0.73 0.77 0. 80 0.79 0.78 44 0. 94 0.58 0. 82
0. 82 0. 83 0. 84 0.89 0. 87 0.88
0.5 0.6 0.8 1.0 0.7 0.6 12 1.0 0.5 0.7
27.2 19.9 15.0 10. 2 13.2 14. 7
18.8 16.9 11.7 7.6 9.5 11.8 44 33.1 7.6 19. 6
22.2 18.0 13.5 9.1 11.0 13.1
33.8 36. 6 35. 4 35.2 34.7 33.5
29.6 33.5 33.2 31.9 32.3 31.1 44 36. 6 25.6 32.3
31.6 34.9 34.6 33.8 33.6 32.0
1.5 2.1 3.9 3.2 1.8 1.8 12 3.9 1.0 2.1
0. 65 1.03 1.03 1.15 1.28 0.70 12 1.28 0.55 0. 89
17.0 20.5 20. 8 20.3 21.0 16. 8 12 26.5 16. 8 19.9
25 31 32 33 32 30 12 33 24 29
6 8 9 9 9 8 12 9 6 8
18. 4 18. 4 18.1 18.5 18.3 16.9
13.9 16.9 17.5 17.0 15.1 14.8 44 18.5 12.5 16.5
15.9 17.6 17.8 17.8 17.1 15.8
9.2 10. 7 11.3 13.6 13.2 13.2 12 13.6 7.7 10. 4
0.029/ 0.030  0.030  0.032] 0.029  0.027
0.021|  0.028  0.029  0.027| 0.024  0.026 44 0.032|  0.017  0.026
0.024  0.028  0.029  0.029  0.026  0.026
0.018/ 0.040, 0.024  0.025/ 0.033  0.023 12/ 0.040, 0.012]  0.027
0.001  0.001  0.001  0.00l  0.00l  0.001 12]  0.001] <0.001 <0.001
0 0 4 0 0 0
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3) B AGEARFEM] JR kK S Rifa AR kK

ROV T VA B X B (PROS)

JEMRF K g R e KR K
A
EE 4 5 6 7 8 9
BRI AKX DOAEH (mg/l) <0. 0003 <0.0003 <0.0003| <0.0003 <0.0003 <0.0003
KB\ K O F 0 b A& W (ng/l) <0. 00005 | <0. 00005 | <0. 00005 | <0. 00005 | <0. 00005 | <0. 00005
L vk OEFE®OIWA YW (ng/L) <0.001| <0.001| <0.001 <0.001| <0.001  <0.001
vt EF &K T 0 A W (ng/L) <0.001| <0.001 <0.001 <0.001 <0.001  <0.001
N fi 7 ov A b A ¥ (mg/L) <0.002| <0.002 <0.002 <0.002| <0.002  <0.002
il i gz fE e #  (mg/L) <0.004| <0.004 <0.004| <0.004  <0.004  <0.004
YT Uk AA Y KOy T (mg/L) <0.001| <0.001| <0.001  <0.001| <0.001  <0.001
HEBEEZLOHEMBREZEE (ng/l) 1 1.00 0.67 0.55 0. 64 1.01
7 v EF kW ZE O E W (ng/l) <0. 08 <0. 08 <0. 08 <0. 08 0. 08 <0. 08
v E L OXE O AEYW (ng/l) <0. 1 <0. 1 <0. 1 0. 1 <0.1 <0.1
| iy 1k R % (mg/L) <0. 0002 <0.0002 <0.0002| <0.0002 <0.0002 <0.0002
L4 — ¥ 4 * ¥ (ng/L) <0.005  <0.005| <0.005 <0.005  <0.005  <0.005
?fé;:;%;{;;z;fg;i;ﬁ;ﬁ;ﬁ;ﬁ;f%%Ef (mg/L) <0.004  <0.004 <0.004 <0.004 <0.004  <0.004
5t Y oy o wm m % % v (ng/L) <0.002| <0.002  <0.002| <0.002  <0.002  <0.002
F N5 7 v =xIF L > (ng/l) <0.001| <0.001| <0.001 <0.001 <0.001  <0.001
Y s v ouv o F Lo (mg/L) <0.001| <0.001 <0.001  <0.001| <0.001  <0.001
L N + > (mg/L) <0.001| <0.001| <0.001 <0.001 <0.001  <0.001
1 1 % & (mg/L) 0.07 0. 06 <0. 06 0.07 0.1 0.11
% = =t L3 iz (mg/L) <0.002/ <0.002  <0.002  <0.002 <0.002  <0.002
4 = = A v A (mg/L) 0.003/  0.003]  0.004  0.003  0.005  0.006
mly 7 = =t B 2 (mg/L) <0.003| <0.003| <0.003| <0.003 <0.003 <0.003
Y 7 mx® s e u A A (mg/l) 0.003/  0.006/ 0.005  0.002  0.004]  0.008
= E3 iz (mg/L) <0. 001 0.003  0.004  0.005 <0.001 0. 003
g WO U oo~ w2 &Z v (mg/L) 0. 009 0.016 0.016 0.007 0.014 0.025
N YUy v oo EE O (mg/L) <0.003  <0.003 <0.003 <0.003 <0.003 <0.003
7 Y s e A X Y (ng/l) 0.002/  0.005/  0.006  0.002  0.005  0.009
7 = £ A A A (mg/L) 0. 001 0.002  0.001 <0.001  <0.001 0. 002
A v A 7T A F v K (mg/L) <0.008| <0.008  <0.008| <0.008 <0.008 <0.008
Mo & N F D b & W (ng/l) 0.1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1
TN =T AR OZEOEY (ng/L) 0.02 0.03 0.03 0. 02 0.03 0.03
il K O F O kA B (mg/L) <0.1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1
FT PV T AR ZEDONAAEY (ng/L) 11.5 15.2 14.8 9.4 12.3 16.9
BN T b e TR N5 EE) (ng/L) 35 40 38 30 34 39
7% B 7% " ¥ (mg/L) 92 89 120 75 87 102
bz 4 A > K m & M Al (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
Y o= * 2 2 > (ng/L) <1 <1 <1 <1 <1 <1
2- A F N A4 VAR A — )b (ng/L) <1 <1 <1 <1 <1 <1
F A4 A v K omoiE M A (mg/L) <0.005| <0.005 <0.005| <0.005 <0.005  <0.005
7 - J — L HE (mg/L) <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
TryFEUOEARZEOAEGY (neg/l) <0. 002 <0. 002
77 kO E O AW (ng/l) <0. 0002 <0. 0002
= TNk OrEOAEYW (ng/l) <0. 002 <0. 002
L2- ¥ 7 v v = &% ¥ (ng/l) <0. 0004 <0. 0004
~ iz - > (mg/L) 0. 04 <0.04
TENEY Q- F L ~F ) (mg/L) <0. 008 <0.008
| i) e B (mg/L) <0. 06 0. 06
Bl rseawe7® b=1rU AL (ng/l) <0. 001 <0. 001
Ej woKk 7 =m 7 — J (mg/L) <0. 002 <0. 002
§ =k E'3 G| <1 <1
e 3 bR iz (mg/L) 2.7 1.4 1.2 1.9 1.4 0.9
H|L,Ll- YU 7 e onrx X > (mg/l) <0. 03 <0.03
HxFr-t-7F x> —5 /L MBE) (mg/L) <0. 002 <0. 002
B £ GiA )iy (TON) 1 1 1 1 1 1
Z v 7 U 7 " Xk -1.4 -1.3 -1.3 -1.5 -1.3 -1.1
e B % & M B (CFu/mD 0 0
Ll — Y27 voe=xF L v (ng/l) <0.01 <0.01
LT A a gty B ARk (PROS) G 8 <5
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10 11 12 1 2 3 [l 53] SZI5S -5
<0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 12| <0.0003 <0.0003 <0.0003
<0. 00005 <0. 00005 <0.00005 <0.00005 <0.00005 <0.00005 12/ <0. 00005| <0. 00005 | <0. 00005
<0.001| <0.001 <0.001| <0.001 <0.001  <0.001 12 <0.001  <0.001| <0.001
<0.001 <0.001 <0.001 <0.001 <0.001 <0.001 12| <0.001| <0.001| <0.001
<0.002  <0.002 <0.002 <0.002 <0.002  <0.002 12 <0.002 <0.002  <0.002
<0.004  <0.004| <0.004 <0.004| <0.004| <0.004 12 <0.004| <0.004  <0.004
<0.001 <0.001 <0.001 <0.001 <0.001  <0.001 12 <0.001 <0.001  <0.001
0. 65 1.03 1.03 1.15 1.28 0. 70 12 1.28 0.55 0. 89
<0.08/ <0.08  <0.08  <0.08  <0.08 0.10 12 0.10| <0.08  <0.08
<0. 1 <0. 1 0.1 0.1 0.1 0.1 12 <0. 1 0.1 <0. 1
<0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 12| <0.0002 <0.0002 <0.0002
<0.005 <0.005 <0.005 <0.005 <0.005  <0.005 12 <0.005  <0.005  <0.005
<0.004| <0.004 <0.004| <0.004 <0.004  <0.004 12 <0.004| <0.004  <0.004
<0.002  <0.002  <0.002 <0.002 <0.002  <0.002 12 <0.002 <0.002  <0.002
<0.001 <0.001 <0.001 <0.001 <0.001  <0.001 12 <0.001 <0.001| <0.001
<0.001 <0.001 <0.001 <0.001 <0.001  <0.001 12 <0.001 <0.001| <0.001
<0.001 <0.001  <0.001 <0.001 <0.001  <0.001 12 <0.001 <0.001| <0.001
0.08  <0.06  <0.06 0.06 <0.06  <0.06 12 0.11  <0.06  <0.06
<0.002  <0.002 <0.002 <0.002 <0.002  <0.002 12 <0.002 <0.002  <0.002
0.005  0.002  0.003  0.002  0.001 0.001 12 0.006  0.001  0.003
<0.003  <0.003 <0.003 <0.003 <0.003  <0.003 12 <0.003 <0.003  <0.003
0.005  0.002  0.005  0.003  0.002  0.002 12/ 0.008  0.002  0.004
<0.001| <0.001 <0.001 <0.001 <0.001 <0.001 12/ 0.005 <0.001|  0.001
0.017  0.007  0.014  0.008  0.005  0.005 12 0.025  0.005  0.012
<0.003  <0.003 <0.003 <0.003 <0.003  <0.003 12 <0.003 <0.003  <0.003
0.006  0.003  0.004  0.003  0.002  0.002 12/ 0.009  0.002  0.004
0.001 <0.001  0.002 <0.001 <0.001| <0.001 12/ 0.002] <0.001| <0.001
<0.008 <0.008 <0.008 <0.008 <0.008  <0.008 12 <0.008 <0.008  <0.008
0.1 0.1 0.1 0.1 0.1 0.1 12 <0. 1 0.1 <0. 1
0.02 0.02 0.02 0.02 0.02 0.02 12 0.03 0.02 0. 02
0.1 0.1 0.1 0.1 0.1 0.1 12 <0. 1 0.1 <0. 1
11.7 14.2 16.3 15.8 16.0 12.8 12 16.9 9.4 13.9
31 39 41 42 41 38 12 42 30 37
89 102 103 99 105 88 12 120 75 96
<0.02  <0.02/ <0.02  <0.02  <0.02  <0.02 12/ <0.02  <0.02  <0.02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<0.005 <0.005 <0.005 <0.005 <0.005 <0.005 12 <0.005 <0.005  <0.005
<0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 12| <0.0005 <0.0005 <0.0005
<0. 002 <0. 002 4] <0.002] <0.002] <0.002
<0. 0002 <0. 0002 4| <0.0002| <0.0002 <0.0002
<0. 002 <0. 002 4] <€0.002| <0.002 <0.002
<0. 0004 <0. 0004 4| <0.0004| <0.0004| <0.0004
<0.04 <0.04 4] <0.04)  <0.04|  <0.04
<0. 008 <0. 008 4| <0.008| <0.008  <0.008
<0. 06 <0. 06 4] <0.06| <0.06  <0.06
<0. 001 <0. 001 4| <0.001 <0.001| <0.001
<0. 002 <0. 002 4/<0. 002 <0.002  <0.002
<1 <1 4 <1 <1 <1
1.3 1.9 3.4 2.8 1.6 1.6 12 3.4 0.9 1.8
<0.03 <0.03 4] <0.03] <0.03  <0.03
<0. 002 <0. 002 4] <€0.002| <0.002 <0.002
1 1 1 1 1 1 12 1 1 1
-1.4 -1.4 -1.4 -1.4 -1.4 -1.5 120 -1.1 -1.5 -1.4
0 0 4 0 0 0
<0. 01 <0. 01 4] <0.01  <0.01]  <0.01
8 <5 4 8 <5 <5
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JEl K Rifa ARfEK (Z203)
A

5 7 10 2 [=1%% B IR )

HH

1,3—y7mrura~X(D—D) @mg/L)| <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
22 —DPA (X 7&K ) (mg/l) <0.0008| <0.0008| <0.0008| <0.0008 4| <0.0008  <0.0008| <0.0008
24 — D (24 — P A ) (mg/L)| <0.0002 <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
E P N (mg/L) | <0.00005 <0.00005| <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
M C P A (mg/L) | <0.0003 <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
T v = = 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
T +* 7 - —  (mg/L) | <0.00006 <0.00006| <0.00006/ <0.00006 4| <0.00006| <0.00006 <0.00006
7 k 7 4 > (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 = =4 N A (mg/L) | <0.00005/ <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
T N S = A (mg/L) | <0.0003  <0.0003  <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 = 4 = — JL (mg/L) | <0.0003| <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
A4 Y F Y F A  (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
A4 Y 7 = ¥ A& A (mg/L)| <0.00003 <0.00003| <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
AV 7ahr7 (MIPC) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
AV 7aFF 7 (IPT) mg/L) <0.003 <0.003 <0.003 <0.003 4 <0. 003 <0. 003 <0. 003
A4 7 XK A(IBP) (mg/L) <0.0009| <0.0009| <0.0009| <0.0009 4| <0.0009  <0.0009| <0.0009
A4 2 7 7 & ¥ v (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006 <0.00006
A4 ¥ KX /7 7 7 ¥ (mg/L)| <0.00009 <0.00009 <0.00009 <0.00009 4| <0.00009| <0.00009 <0.00009
— X 7 v H 7 (mg/L)| <0.0003  <0.0003 ~ <0.0003| <0.0003 4| <0.0003| <0.0003  <0.0003
= N 7 = ¥ 7 ma v 7 A (mg/L)| <0.0008 <0.0008  <0.0008 <0.0008 4| <0.0008| <0.0008/ <0.0008
TURZNNT 7o (R ) (mg/L) | <0.0001  <0.0001  <0.0001  <0.0001 4 <0.0001| <0.0001| <0.0001
F F ¥ ¥ 7 g R A (mg/L)| <0.0002 <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
T X > 8 (A ¥ 8 ) (ng/L) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
= U B X k2 B ¥ (mg/L)

Vil z B N A (mg/L) | €0.000006| <0.000006| <0. 000006/ <0.000006 4| <0. 000006 <0. 000006/ <0. 000006
B 7 x= ¥ A kv — JL (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008 <0.00008
7 v o D4 7" (mg/L)

B N U b (N A C ) (mg/L)| <0.0003 <0.0003| <0.0003 <0.0003 4| <0.0003| <0.0003| <0.0003
77 Y Z v (mg/L) [ <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
¥ /7 732 (A CN ) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005/ <0.00005
% x - i v (mg/L) <0. 003 <0. 003 <0. 003 <0.003 4 <0. 003 <0. 003 <0. 003
Y S 1% =d > (mg/L) | <0.0003| <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
v U AN B —  (mg/L) 0. 02 0. 02 €0. 02 0. 02 4 <0. 02 <0. 02 <0. 02
7 v R Y 3% — b (mg/L)| <0.0002 <0.0002  <0.0002 ~ <0.0002 4| <0.0002| <0.0002|  <0.0002
7 o m A 7 v v 7 (mg/L)| <0.0002  <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
sl =ra 7= (CNP) (mg/L)| <0.0001 <0.0001  <0.0001| <0.0001 4 <0.0001| <0.0001| <0.0001
7 m b B U R A (mg/L)[| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
smua o=/, (TPN) mL)|[ <0.0005 <0.0005 <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
D4 7 > D4 > (mg/L) | <0.00001| <0.00001 <0.00001| <0.00001 4| <0.00001| <0.00001| <0.00001
> 7 J A A (CY AP ) (mg/L)| <0.00003 <0.00003 <0.00003| <0.00003 4| <0.00003| <0.00003 <0.00003
v nra Yy (DCMU ) (mg/L)| <0.0002 <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
Y7 X=)(DBN) (mg/lL) <0.0003| <0.0003| <0.0003| <0.0003 4/ <0.0003| <0.0003  <0.0003
7 ma )R A (DDVP) (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008 <0.00008
¥ 7 1Z D k (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
AR I (= F )V F A ARL) (mg/L) | <0.00004| <0.00004| <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
CFF I N A— R A (ng/L)

D% I 7 | JL (mg/L) | <0.00009 <0.00009| <0.00009 <0.00009 4 <0.00009| <0.00009| <0.00009
oo m ok vy 7 7 F b (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006/ <0.00006
v o= ¥ v (. C A T ) (mg/L)| <0.00003 <0.00003 <0.00003| <0.00003 4| <0.00003| <0.00003 <0.00003
v X X A Kk U v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4/ <0.0002| <0.0002|  <0.0002
D% A K - — ~ (mg/L) | <0.0005  <0.0005/ <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
¥ A k D) > (mg/L) | <0.0003| <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
v A T D4 J > (mg/L) | <0.00003| <0.00003| <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
v A VN i v (mg/L) <0.008 <0.008 <0.008|  <0.008 4 <0. 008 <0. 008 <0. 008
AN AR NI —23 ) e OAF (ng/L)

A FFT T F—h
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s 5 7 10 2 E R RIE P

EHH

S e ¥ = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
SF 7 S 2 (mg/L) | <0.0002| <0.0002| <0.0002|  <0.0002 4| <0.0002| <0.0002|  <0.0002
F 4 ¥ J b 7 (mg/L)| <0.0008  <0.0008  <0.0008  <0.0008 4| <0.0008| <0.0008  <0.0008
F A 7 7 — K A F )L (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
F & N v v 7 (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 7 U v b U F v (mg/L)

T T AT (MBPMC) (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
[N ) V4 =4 = JL (mg/L) | <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006/ <0.00006
FY Zwma k> (DEP) (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
U Yy Z T — b (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
KU 7 o Z U v (mg/L)| <0.0006/ <0.0006 ~ <0.0006  <0.0006 4| <0.0006| <0.0006/ <0.0006
7+ A = A N R (mg/L) | <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A = = — k (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
= ~ =4 IR A (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005 <0.00005
= = 7 =] = L (mg/L)

7 Y ¥ ¥ 7 = » (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
IV YR —hk (YL —hK) (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
U X 7 = v F F  (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
vy 7 F H v 7 (mg/L)| <0.0002] <0.0002 ~ <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
= =4 ¥ = > (mg/L) | <0.0005 <0.0005 ~ <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
7 € A = = JL (mg/L) | <0.000005| <0.000005 <0.000005 <0.000005 4| <0.000005| <0.000005| <0. 000005
Zx=hruaF At (MEP) @mg/)| <0.0001 <0.0001  <0.0001 <0.0001 4| <0.0001| <0.0001| <0.0001
7 /)7 H)L T (BPMC) (mg/L)| <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
7 = U N ' v (mg/L)

7 xr F A (MPP) (mg/L)| <€0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006 <0.00006
7z — K (PAP) (mg/L)| <€0.00007 <0.00007 <0.00007 <0.00007 4| <0.00007| <0.00007 <0.00007
7 = v b T F I K (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001 4 <0.0001| <0.0001| <0.0001
7 A = A K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
7 % 4 = — JL (mg/L)| <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
7 vl g 7N Z (mg/L) | <0.0002| <0.0002| <0.0002|  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 7 um 7 = ¥ v (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 v 7 ¥ A (mg/L)| <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
7 v F T 7 v — Jb (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
- =] D4 =4 K > (mg/L) <0.0009| <0.0009  <0.0009| <0.0009 4/ <0.0009| <0.0009  <0.0009
7 u F A &K A (mg/L)

7 m v =2 Y — b (mg/L)| <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
A = = A N K (mg/L) | <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
7 v X S Y — ) (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003  <0.0003| <0.0003
7 =i £ 7 I K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~ J R JL (mg/L) | <0.0002]  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002| <0.0002
~ Nz 2 4 = v (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
N v Y v v 7 v v (mg/L)| <0.0009 <0.0009  <0.0009  <0.0009 4| <0.0009| <0.0009| <0.0009
~N v Y 7 = F w7 (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
~ v i ' > (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
N T 4 A KX U v (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
~N T Z JL 7 (mg/L)| <0.0004 <0.0004  <0.0004  <0.0004 4| <0.0004| <0.0004| <0.0004
N7 (X2 ) (mg/L) | <0.0001  <0.0001  <0.0001  <0.0001 4| <0.0001| <0.0001| <0.0001
~N v 7 L & — b (mg/L)| <0.0007 <0.0007  <0.0007  <0.0007 4| <0.0007| <0.0007,  <0.0007
A A F 7 £ — b (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
~ 7 F A (~F Y ) (mg/l) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
Aa 7 uay 7 (MCPP) (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
A Y S JL (mg/L) | <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A A 7 % > )L (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
AF X F F > (DMTP) (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
A K~ I J A b m B ¥ (ng/L)| <0.0004 <0.0004  <0.0004  <0.0004 4 <0.0004| <0.0004| <0.0004
A k ) 7 ¥ > (mg/L) | <0.0003| <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A 7 = F v b (mg/L) <0.0002| <0.0002  <0.0002| <0.0002 4 <0.0002| <0.0002  <0.0002
A A =4 = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
S D) s — ~ (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
=3 $E $H  (mg/L) <1 <1 <1 <1 4 <1 <1 <1
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4) PrpEARSEM 540 KGR iR KRR K

[l SERE 3Rl 3%‘45)'[%%7k%%%%7k1‘%7§ (o 1)

N 4 5 6 7 8 9
— [T K (CFU/m1) 0 0 0 0 0 0

X i - = = = =
=’ 0.002  <0.001 0. 002 0. 002 0. 003 0. 003
w Kk O F o b A& W (ng/L) HIX| <0.001 <0.001 <0.001 <0.001  <0.001| <0.001
SEHJ 0 <0.001  <0.001  <0.001| <0.001| <0.001  <0.001
= <0. 03 0. 03 <0.03 <0. 03 <0. 03 <0. 03
% kK O =2 o b & # (mg/l) mIK 0. 03 0. 03 <0. 03 <0. 03 <0. 03 <0. 03
S <0. 03 <0. 03 <0. 03 <0.03 <0. 03 <0. 03
el <0.001 <0.001  <0.001 0.001  <0.001  <0.001
v v H U kR ORE OIS W  (mg/l) HIE| <0.001 <0.001 <0.001| <0.001 <0.001  <0.001
SE#Y| 0 <0.0010 <0.001  <0.001  <0.001  <0.001  <0.001
B 14.0 15. 4 14.3 11.6 13.7 14.6
# 1k B A % v (mg/L) | AR 12.9 12.2 9.6 6.1 10. 1 11.5
¥ 13.2 13.8 11.6 8.5 12.6 13.5
e 0.9 0.9 0.9 0.8 0.8 0.9
H 1 W (toc)  (mg/L) | &fX 0.8 0.8 0.7 0.6 0.5 0.6
) 0.9 0.8 0.8 0.7 0.7 0.8
= 7.59 7.57 7.64 7.65 7.68 7.62
pH i AKX 7.56 7.52 7.48 7.45 7.53 7.49
¥ 7.57 7.54 7.55 7.56 7.60 7.57
S WER L Bl BER L BERL BERL BERL
2 = B U Bl BEal BELRL BEALL BAERL
e <0.5 0.5 <0.5 <0.5 <0.5 0.5
i) 53 (B) ik €0.5 0.5 <0.5 0.5 <0.5 0.5
¥ <0.5 0.5 <0.5 <0.5 <0.5 0.5
s 0.01 0.02 0.03 0. 02 0.03 0.01
% Ji8 (B) | &K 0. 01 0. 01 0. 01 0. 01 0. 01 0. 01
NE] <0. 01 0.01 0.01 <0. 01 0.01 <0. 01
é% e 0.73 0. 64 0.81 0.73 0.79 0.76
= E BE & 8 o F g/ KK 0.64 0.52 0.42 0.30 0.48 0.31
H Sy 0. 68 0. 58 0.65 0. 62 0.65 0.58
f'?? B 0.78 0.71 0.85 0. 79 0.87 0.81
w 7% E” i # (mg/l) &K 0. 69 0.56 0.51 0.35 0. 56 0. 36
% ) 0.74 0. 64 0.71 4.00 0.72 0.64
TE K W % KMo, W B OB ) (mg/L) 1.0 0.9 0.8 0.8 0.5 0.8
B 16. 2 22.6 25.9 26.8 32.5 33.1
7K b (C) | &% 15. 1 20. 3 23.8 23.6 29.0 25. 8
- 15. 6 21.4 24.7 25.0 30. 4 29. 6
e 35.6 36. 8 36. 8 38.4 40. 8 41.8
7 b v U B (mg/L) | HAK 33.1 35. 4 31.2 21.8 31.2 30. 4
- ) 34.0 36. 1 33.7 28.1 34.2 34. 4
[ B (mg/L) 2.9 1.9 1.2 1.9 1.2 1.2
] fiis e % #  (mg/L) 1.03 1.01 0. 68 0. 65 0. 62 1. 00
i [ iz A * > (mg/L) 19.6 20. 2 21.5 16. 6 18.8 22. 2
B ¥ v A O (mg/L) 30 31 31 24 28 26
~ 7 3 ¥ v A f B (ng/L) 8 9 8 7 7 8
e 17.3 18.0 17.1 16.6 18.1 18.8
H | 0 = H # @S/m) & 16.3 16.1 14.1 12.3 15.3 16.5
) 16. 6 17.0 15.5 13.9 17.3 17.8
% 17 i3 % (mg/L) 9.3 8.6 8.6 8.3 7.2 7.3
5 ®E 0.035 0.035 0. 028 0. 031 0.033 0.036
E T S S S i BIK 0.026/  0.028  0.020  0.022 0. 023 0. 026
¥ 0. 030 0. 032 0. 025 0. 026 0. 028 0. 029
S H K oo~ v & v ¥ E (ng/l) 0. 023 0. 046 0. 028 0.012 0. 038 0. 039
O o E (| OE ) (mg/l) 0. 001 0. 001 0. 001 0. 001 0. 001 0. 001

7 Y 7 b 2K U ¥ U A (fE/20L) 0 0
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10 11 12 1 2 3 EEe 4] 4158 S
0 0 0 0 0 0 86 0 0 0
— — — — — — 86 — — —
0.003]  0.003] 0.003 0.002] 0.003  0.003
<0.001 <0.001  <0.001| <0.001 <0.001| <0.001 86/  0.003 <0.001  <0.001
<0.001 <0.001  <0.001| <0.001 <0.001/ <0.001
<0.03]  <0.03]  <0.03 <0.03]  <0.03 <0. 03
<0.03]  <0.03  <0.03 <0.03]  <0.03  <0.03 86|  <0.03|  <0.03 <0. 03
<0.03]  <0.03  <0.03 <0.03]  <0.03 <0. 03
<0.001] <0.001| <0.001| <0.001| <0.001] <0.001
<0.001| <0.001  <0.001| <0.001 <0.001| <0.001 86/  0.001 <0.001  <0.001
<0.001| <0.001  <0.001| <0.001 <0.001| <0.001
15.0 14.9 16. 1 16. 8 17. 4 15. 4
9.7 13.0 14.1 14.3 12.6 10.9 86 17.4 6.1 13.3
12.2 14.3 15. 6 15. 8 14.5 13. 4
0.8 0.8 1.0 1.0 0.9 0.9
0.6 0.7 0.8 0.8 0.7 0.7 86 1.0 0.5 0.8
0.7 0.8 0.9 0.9 0.8 0.8
7.62 7.59 7.58 7.58 7.59 7.57
7.48 7.52 7.48 7.49 7.53 7.50 86 7.68 7.45 7.55
7.56 7.56 7.53 7.54 7.56 7.54
Bl Bl BEsaL BESRL BEkl BERL 86 Bl L
ERRL I BERL BEERL | BEERL | EERLL | EERL 86 HERL
0.6 0.5 0.5 0.5 <0.5 0.5
0.5 0.5 0.5 0.5 0.5 0.5 86 0.6 <0.5 0.5
0.5 0.5 0.5 0.5 <0.5 0.5
0. 02 0.03 0.02 0. 02 0. 02 0. 02
<0. 01 <0. 01 <0. 01 <0. 01 <0. 01 <0. 01 86 0.03|  <0.01 <0. 01
<0. 01 <0. 01 <0. 01 0.01 <0. 01 <0. 01
0. 81 0.80 0.78 0.83 0.85 0.84
0.45 0. 60 0.47 0.50 0. 64 0.58 86 0. 85 0.30 0. 66
0. 68 0. 68 0. 68 0.71 0.73 0.73
0. 86 0.83 0.84 0.88 0.88 0.87
0.51 0. 65 0.53 0.55 0.69 0. 64 86 0.88 0.35 0.72
0.74 0.73 0.74 0.77 0.78 0.78
0.5 0.7 0.9 1.1 0.7 0.8 12 1.1 0.5 0.8
25.0 20.5 17.3 12.4 12.7 14. 7
20.5 17.3 10. 2 7.4 9.9 11.7 86 33.1 7.4 19. 8
22.9 18.6 14. 6 9.7 11. 4 13.3
35.2 39.2 37.4 36. 6 36.3 35.2
31.0 34.2 34.2 31.8 33.3 31.3 86 41.8 21.8 34.0
33.3 36. 2 35.8 34.4 34.4 33.4
1.2 1.7 3.9 3.0 1.7 1.8 12 3.9 1.2 2.0
0.63 1.03 1.03 1. 10 1. 40 0.76 12 1. 40 0. 62 0.91
17.0 19.9 20.9 20. 4 21.8 17.1 12 22.2 16. 6 19. 7
25 32 33 33 32 31 12 33 24 30
7 3 9 9 9 3 12 9 7 8
18.3 18.3 18. 4 18.5 19.0 17.6
14. 4 17.1 17.6 17.1 15.5 14.8 86 19.0 12.3 16.8
16. 6 17.9 18.1 18.0 17.0 16. 4
8.7 9.9 10. 7 13.2 12.2 12.1 12 13.2 7.2 9.7
0.040/  0.035  0.037] 0.035 0.038  0.041
0.020/  0.025| 0.030,  0.027  0.026  0.026 86|  0.041 0.020  0.029
0.025/  0.030,  0.033] 0.032] 0.031 0.031
0.019]  0.031 0. 041 0. 031 0.035]  0.039 12| 0.046  0.012]  0.032
0.001 0. 001 0.001 0. 001 0. 001 0. 001 12 0.001 0.001 0. 001
0 0 4 0 0 0
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4) BB ZEN] 584 )11 KGR ifa KR 7K

S SERE SRil 3%%)”?%7kf571’*u7k1‘£7k (Zp1)

KOV T7 v A v 2o 2 fg (PROS)

HH 4 5 6 7 8 9
HRIVAEKEOPZoEY (ng/L) <0.0003] <0.0003| <0.0003| <0.0003 <0.0003 <0.0003
KB K O F o kA W (ng/l) <0. 00005 <0. 00005 <0. 00005| <0. 00005 <0.00005 <0. 00005
L v kT oA (ng/l) <0.001  <0.001 <0.001 <0.001  <0.001| <0.001
E #F K XN F 0 b A W (mg/l) <0.001  <0.001  <0.001| <0.001  <0.001  <0.001
N o 7 v oA b A& W (ng/L) <0.002  <0.002| <0.002| <0.002  <0.002| <0.002
Mmoo B %2 # (mg/l) <0.004  <0.004| <0.004| <0.004 <0.004  <0.004
T m Aty koY 7 (mg/L) <0.001  <0.001 <0.001 <0.001 <0.001  <0.001
mEEE RO HEMEBEEEE (ng/l) 1.03 1.01 0. 68 0. 65 0. 62 1
7 v #Z Lk O ZE 0 E W (ng/l) <0. 08 <0. 08 <0. 08 <0. 08 <0. 08 <0. 08
R EB K KXE o0 AE Y (mg/L) <0.1 <0.1 <0.1 €0.1 <0.1 €0.1
7y tﬁ b R %  (mg/L) <0.0002 <0.0002| <0.0002 <0.0002 <0.0002 <0.0002
L4 — v X X ¥ (mg/l) <0.005  <0.005/ <0.005 <0.005 <0.005  <0.005
‘f;;lffl,;’;;;j;;%g (mg/L) €0.004  <0.004 <0.004 <0.004 <0.004  <0.004
|l 7 0w w2 & v (mg/l) <0.002  <0.002| <0.002| <0.002  <0.002| <0.002
> h % 7 v u=xF L > (mg/l) <0.001  <0.001 <0.001 <0.001  <0.001  <0.001
Y 7 mom o= F Loy (mg/l) <0.001  <0.001 <0.001] <0.001 <0.001  <0.001
R N id > (mg/L) <0.001  <0.001  <0.001 <0.001 <0.001  <0.001
% |1 F# i (mg/L) <0. 06 0. 06 <0. 06 <0. 06 0.06 0.07
7 = =t {3 e (mg/L) <0.002  <0.002| <0.002| <0.002  <0.002| <0.002
7 = = A v A (mg/L) 0. 001 0. 005 0. 004 0. 004 0. 009 0. 006
wmIY 7 = = B (ng/L) <0. 003 0.004  <0.003  <0.003 <0.003 0. 003
7 mE s v oua 2 % v (ng/l) 0. 003 0. 009 0. 005 0. 004 0. 007 0. 009
ES ez (mg/L) 0. 002 0. 002 0. 002 0. 005 0. 002 0. 002
“woor U N 1 A& » (mg/L) 0. 008 0. 024 0.016 0.012 0. 026 0. 026
Hlr v 2 & a2 ® ® g/l <0.003  <0.003| <0.003| <0.003  <0.003 <0.003
7 ® Y s anur A X v (ng/l) 0. 002 0. 008 0. 006 0. 004 0. 009 0. 009
7 = £ & A A (mg/L) 0. 002 0. 002 0.001  <0.001 0. 001 0. 002
A o A 7 A F kv K (mg/L) <0.008  <0.008| <0.008 <0.008  <0.008/  <0.008
o k& O ZF o A& W (ng/l) 0. 1 0.1 0. 1 0. 1 <0. 1 0.1
TN AEORZEOEY (ng/l) 0.03 0.03 0.04 0. 02 0.04 0.03
Kk O = o b & ¥ (ng/L) 0. 1 0.1 0.1 0. 1 <0. 1 0.1
F rV U LAKEOZEDONAEYW (ng/l) 15.5 16. 2 14.8 10.6 12.8 15.1
ANT T L= TR B GEE) (ng/L) 38 40 39 31 35 34
3 I % B ¥ (mg/L) 101 98 120 75 87 92
b2 A4 & v K om & % Al (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
4 - 7 2 2 v (ng/L) a1 a a1 a1 <1 1
2- A F L A VAL R F— 1 (ng/Ll) <1 <1 <1 <1 <1 <1
¥ A4 A v F om E M Al (ng/L) <0.005  <0.005 <0.005 <0.005  <0.005  <O0.005
7 - J — v (mg/L) <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
7T roFEUVEOREDONAEY (ng/l) <0. 002 <0. 002
7 7 v kO E 0 AE Y (ng/l) <0. 0002 <0. 0002
= v Xk OFEON,AEYW (mg/l) <0. 002 <0. 002
L2- ¥ 7 v v = % » (mg/l) <0. 0004 <0. 0004
~ Ju - v (mg/L) <0. 04 <0. 04
TRV Q- F )L~F L) (mg/L) <0. 008 <0. 008
8ED % ES 2 (mg/L) <0. 06 <0. 06
Bl v eae 7% F=rU L (gl <0. 001 <0. 001
% mok 7 v 7 — b (mg/l) <0. 002 <0. 002
o |2 P H <1 A
= |1 Hife R e (mg/L) 2.6 1.7 1.1 1.7 1.1 1.1
wl,,1- vV 7 v = % v (ng/l) <0. 03 <0. 03
HAFAr-t-7Fr=—F L MBE) (mg/L) <0. 002 <0. 002
B = G = (TON) 1 1 1 1 1 1
Z v U 7T B K -1.4 -1.3 -1.3 -1.4 -1.1 -1.3
e R X &M (CFU/ml) 2 0
Ll — Y27 uanmr=xF L v (ng/l) <0. 01 <0.01
)7 )Fa Ky 2 AR (PROS) Gary/m) 10 8
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10 11 12 1 2 3 [EIEq 5 q5] A% K

<0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 12| <0.0003 <0.0003 <0.0003
<0. 00005/ <0. 00005 <0. 00005 <0. 00005 <0. 00005 <0.00005 12/ <0. 00005 <0. 00005 <0. 00005
<0.001 <0.001  <0.001 <0.001 <0.001| <0.001 12 <0.001 <0.001| <0.001
<0.001| <0.001 <0.001| <0.001 <0.001| <0.001 12/ <0.001 <0.001| <0.001
<0.002| <0.002| <0.002  <0.002  <0.002  <0.002 12 <0.002  <0.002  <0.002
<0.004| <0.004| <0.004  <0.004  <0.004  <0.004 12 <0.004) <0.004| <0.004
<0.001 <0.001  <0.001 <0.001 <0.001| <0.001 12 <0.001 <0.001| <0.001
0.63 1.03 1.03 1.10 1. 40 0.76 12 1. 40 0. 62 0.91
<0. 08 <0. 08 <0. 08 <0. 08 <0. 08 <0. 08 12 <0. 08 <0. 08 <0. 08
<0. 1 <0.1 0.1 0.1 <0.1 0.1 12 <0.1 <0.1 0.1
<0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 12| <0.0002 <0.0002 <0.0002
<0.005  <0.005/ <0.005 ~<0.005 <0.005  <0.005 12 <0.005| <0.005 <0.005
<0.004| <0.004| <0.004  <0.004  <0.004  <0.004 12/ <0.004| <0.004| <0.004
<0.002| <0.002| <0.002  <0.002  <0.002  <0.002 12 <0.002  <0.002  <0.002
<0.001| <0.001  <0.001| <0.001 <0.001| <0.001 12 <0.001 <0.001| <0.001
<0.001 <0.001  <0.001| <0.001 <0.001| <0.001 12 <0.001  <0.001| <0.001
<0.001| <0.001  <0.001| <0.001 <0.001| <0.001 12 <0.001 <0.001| <0.001
<0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06 12 0.07 <0. 06 <0. 06
<0.002| <0.002| <0.002  <0.002  <0.002  <0.002 12 <0.002  <0.002  <0.002
0. 005 0.003|  0.006 0.002]  0.001 0.003 12/ 0.009] 0.001 0. 004
<0.003| <0.003| <0.003  <0.003  <0.003  <0.003 12/ 0.004 <0.003  <0.003
0.004|  0.004  0.009 0.003|  0.002 0.003 12 0.009  0.002 0. 005
<0.001| <0.001 <0.001| <0.001 <0.001| <0.001 12/ 0.005 <0.001 0. 001
0.014)  0.012  0.026 0.008)  0.004  0.009 12 0.026  0.004  0.015
<0.003| <0.003| <0.003  <0.003  <0.003  <0.003 12 <0.003  <0.003  <0.003
0. 005 0.004)  0.009 0.003|  0.001 0. 003 12 0.009|  0.001 0. 005
<0. 001 0. 001 0.002] <0.001 <0.001| <0.001 12/ 0.002 <0.001| <0.001
<0.008| <0.008| <0.008  <0.008  <0.008  <0.008 12 <0.008 <0.008  <0.008
<0.1 <0. 1 <0.1 <0.1 <0. 1 <0. 1 12 <0. 1 <0. 1 <0. 1
0.02 0.02 0.02 0.02 0.02 0.02 12 0. 04 0.02 0.03
<0. 1 <0. 1 <0.1 <0. 1 <0. 1 <0. 1 12 <0. 1 <0. 1 <0. 1
12.3 14. 4 16.8 16. 2 17.0 13.8 12 17.0 10. 6 14.6

32 40 42 42 41 39 12 42 31 38

72 100 111 100 106 93 12 120 72 96

<0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 12 <0. 02 <0. 02 <0. 02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1

<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<0.005  <0.005 <0.005  <0.005  <0.005  <0.005 12 <0.005 <0.005  <0.005
<0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 12/ <0.0005 <0.0005 <0.0005
<0. 002 <0. 002 4] <0.002] <0.002  <0.002
<0. 0002 <0. 0002 4] <0.0002| <0.0002 <0.0002
<0. 002 <0. 002 4] <0.002) <0.002  <0.002
<0. 0004 <0. 0004 4| <0.0004 <0.0004 <0.0004
<0. 04 <0. 04 4/ <0.04 <0. 04 <0. 04
<0. 008 <0. 008 4 <0.008 <0.008  <0.008
<0. 06 <0. 06 4/ <0.06 <0. 06 <0. 06
<0. 001 <0. 001 4/ <0.001| <0.001 <0.001
<0. 002 <0. 002 4] <0.002) <0.002  <0.002
<1 <1 4 <1 <1 <1

1.1 1.5 3.4 2.6 1.5 1.6 12 3.4 1.1 1.8

<0. 03 <0. 03 4/ <0.03 <0. 03 <0. 03
<0. 002 <0. 002 4/ <0.002) <0.002  <0.002
1 1 1 1 1 1 12 1 1 1

-1.4 -1.3 -1.3 -1.5 -1.4 -1.4 12 -1.1 -1.5 -1.3

0 0 4 2 0 1

<0.01 <0.01 4/ <0.01 <0.01 <0. 01

8 6 4 10 6 8
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Pt AGE AR FE R R84 ) VARG RAG AR K (£D 3) FE3H

5 7 10 2 [=1%% B IR )
HH
1,3—y7mrura~X(D—D) @mg/L)| <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
22 —DPA (X 7&K ) (mg/l) <0.0008| <0.0008| <0.0008| <0.0008 4| <0.0008  <0.0008| <0.0008
24 — D (24 — P A ) (mg/L)| <0.0002 <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
E P N (mg/L) | <0.00005 <0.00005| <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
M C P A (mg/L) | <0.0003 <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
T v = = 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
T +* 7 - —  (mg/L) | <0.00006 <0.00006| <0.00006/ <0.00006 4| <0.00006| <0.00006 <0.00006
7 k 7 4 > (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 = =4 N A (mg/L) | <0.00005/ <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
T N S = A (mg/L) | <0.0003  <0.0003  <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 = 4 = — JL (mg/L) | <0.0003| <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
A4 Y F Y F A  (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
A4 Y 7 = ¥ A& A (mg/L)| <0.00003 <0.00003| <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
AV 7ahr7 (MIPC) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
AV 7aFF 7 (IPT) mg/L) <0.003 <0.003 <0.003 <0.003 4 <0. 003 <0. 003 <0. 003
A4 7 XK A(IBP) (mg/L) <0.0009| <0.0009| <0.0009| <0.0009 4| <0.0009  <0.0009| <0.0009
A4 2 7 7 & ¥ v (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006 <0.00006
A4 ¥ KX /7 7 7 ¥ (mg/L)| <0.00009 <0.00009 <0.00009 <0.00009 4| <0.00009| <0.00009 <0.00009
— X 7 v H 7 (mg/L)| <0.0003  <0.0003 ~ <0.0003| <0.0003 4| <0.0003| <0.0003  <0.0003
= N 7 = ¥ 7 ma v 7 A (mg/L)| <0.0008 <0.0008  <0.0008 <0.0008 4| <0.0008| <0.0008/ <0.0008
TURZNNT 7o (R ) (mg/L) | <0.0001  <0.0001  <0.0001  <0.0001 4 <0.0001| <0.0001| <0.0001
F F ¥ ¥ 7 g R A (mg/L)| <0.0002 <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
T X > 8 (A ¥ 8 ) (ng/L) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
= U B X k2 B ¥ (mg/L)
Vil z B N A (mg/L) | €0.000006| <0.000006| <0. 000006/ <0.000006 4| <0. 000006 <0. 000006/ <0. 000006
B 7 x= ¥ A kv — JL (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008 <0.00008
7 v o D4 7" (mg/L)
B N U b (N A C ) (mg/L)| <0.0003 <0.0003| <0.0003 <0.0003 4| <0.0003| <0.0003| <0.0003
77 Y Z v (mg/L) [ <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
¥ /7 732 (A CN ) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005/ <0.00005
% x - i v (mg/L) <0. 003 <0. 003 <0. 003 <0.003 4 <0. 003 <0. 003 <0. 003
Y S 1% =d > (mg/L) | <0.0003| <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
v U AN B —  (mg/L) 0. 02 0. 02 €0. 02 0. 02 4 <0. 02 <0. 02 <0. 02
7 v R Y 3% — b (mg/L)| <0.0002 <0.0002  <0.0002 ~ <0.0002 4| <0.0002| <0.0002|  <0.0002
7 o m A 7 v v 7 (mg/L)| <0.0002  <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
sl =ra 7= (CNP) (mg/L)| <0.0001 <0.0001  <0.0001| <0.0001 4 <0.0001| <0.0001| <0.0001
7 m b B U R A (mg/L)[| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
smua o=/, (TPN) mL)|[ <0.0005 <0.0005 <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
D4 7 > D4 > (mg/L) | <0.00001| <0.00001 <0.00001| <0.00001 4| <0.00001| <0.00001| <0.00001
> 7 J A A (CY AP ) (mg/L)| <0.00003 <0.00003 <0.00003| <0.00003 4| <0.00003| <0.00003 <0.00003
v nra Yy (DCMU ) (mg/L)| <0.0002 <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
Y7 X=)(DBN) (mg/lL) <0.0003| <0.0003| <0.0003| <0.0003 4/ <0.0003| <0.0003  <0.0003
7 ma )R A (DDVP) (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008 <0.00008
¥ 7 1Z D k (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
AR I (= F )V F A ARL) (mg/L) | <0.00004| <0.00004| <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
CFF I N A— R A (ng/L)
D% I 7 | JL (mg/L) | <0.00009 <0.00009| <0.00009 <0.00009 4 <0.00009| <0.00009| <0.00009
oo m ok vy 7 7 F b (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006/ <0.00006
v o= ¥ v (. C A T ) (mg/L)| <0.00003 <0.00003 <0.00003| <0.00003 4| <0.00003| <0.00003 <0.00003
v X X A Kk U v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4/ <0.0002| <0.0002|  <0.0002
D% A K - — ~ (mg/L) | <0.0005  <0.0005/ <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
¥ A k D) > (mg/L) | <0.0003| <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
v A T D4 J > (mg/L) | <0.00003| <0.00003| <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
v A VN i v (mg/L) <0.008 <0.008 <0.008 <0.008 4 <0. 008 <0. 008 <0. 008
AR, fﬁA‘(iJ—/*‘A)&U“%% (ng/L)
A FFT T F—h
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s 5 7 10 2 E R RIE P

EHH

S e ¥ = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
SF 7 S 2 (mg/L) | <0.0002| <0.0002| <0.0002|  <0.0002 4| <0.0002| <0.0002|  <0.0002
F 4 ¥ J b 7 (mg/L)| <0.0008  <0.0008  <0.0008  <0.0008 4| <0.0008| <0.0008  <0.0008
F A 7 7 — K A F )L (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
F & N v v 7 (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 7 U v b U F v (mg/L)

T T AT (MBPMC) (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
[N ) V4 =4 = JL (mg/L) | <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006/ <0.00006
FY Zwma k> (DEP) (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
U Yy Z T — b (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
KU 7 o Z U v (mg/L)| <0.0006/ <0.0006 ~ <0.0006  <0.0006 4| <0.0006| <0.0006/ <0.0006
7+ A = A N R (mg/L) | <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A = = — k (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
= ~ =4 IR A (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005 <0.00005
= = 7 =] = L (mg/L)

7 Y ¥ ¥ 7 = » (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
IV YR —hk (YL —hK) (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
U X 7 = v F F  (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
vy 7 F H v 7 (mg/L)| <0.0002] <0.0002 ~ <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
= =4 ¥ = > (mg/L) | <0.0005 <0.0005 ~ <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
7 € A = = JL (mg/L) | <0.000005| <0.000005 <0.000005 <0.000005 4| <0.000005| <0.000005| <0. 000005
Zx=hruaF At (MEP) @mg/)| <0.0001 <0.0001  <0.0001 <0.0001 4| <0.0001| <0.0001| <0.0001
7 /)7 H)L T (BPMC) (mg/L)| <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
7 = U N ' v (mg/L)

7 xr F A (MPP) (mg/L)| <€0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006 <0.00006
7z — K (PAP) (mg/L)| <€0.00007 <0.00007 <0.00007 <0.00007 4| <0.00007| <0.00007 <0.00007
7 = v b T F I K (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001 4 <0.0001| <0.0001| <0.0001
7 A = A K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
7 % 4 = — JL (mg/L)| <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
7 vl g 7N Z (mg/L) | <0.0002| <0.0002| <0.0002|  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 7 um 7 = ¥ v (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 v 7 ¥ A (mg/L)| <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
7 v F T 7 v — Jb (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
- =] D4 =4 K > (mg/L) <0.0009| <0.0009  <0.0009| <0.0009 4/ <0.0009| <0.0009  <0.0009
7 u F A &K A (mg/L)

7 m v =2 Y — b (mg/L)| <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
A = = A N K (mg/L) | <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
7 v X S Y — ) (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003  <0.0003| <0.0003
7 =i £ 7 I K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~ J R JL (mg/L) | <0.0002]  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002| <0.0002
~ Nz 2 4 = v (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
N v Y v v 7 v v (mg/L)| <0.0009 <0.0009  <0.0009  <0.0009 4| <0.0009| <0.0009| <0.0009
~N v Y 7 = F w7 (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
~ v i ' > (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
N T 4 A KX U v (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
~N T Z JL 7 (mg/L)| <0.0004 <0.0004  <0.0004  <0.0004 4| <0.0004| <0.0004| <0.0004
N7 (X2 ) (mg/L) | <0.0001  <0.0001  <0.0001  <0.0001 4| <0.0001| <0.0001| <0.0001
~N v 7 L & — b (mg/L)| <0.0007 <0.0007  <0.0007  <0.0007 4| <0.0007| <0.0007,  <0.0007
A A F 7 £ — b (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
~ 7 F A (~F Y ) (mg/l) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
Aa 7 uay 7 (MCPP) (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
A Y S JL (mg/L) | <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A A 7 % > )L (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
AF X F F > (DMTP) (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
A K~ I J A b m B ¥ (ng/L)| <0.0004 <0.0004  <0.0004  <0.0004 4 <0.0004| <0.0004| <0.0004
A k ) 7 ¥ > (mg/L) | <0.0003| <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A 7 = F v b (mg/L) <0.0002| <0.0002  <0.0002| <0.0002 4 <0.0002| <0.0002  <0.0002
A A =4 = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
S D) s — ~ (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
=3 $E $H  (mg/L) <1 <1 <1 <1 4 <1 <1 <1
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5) BN T ERAGIKIRIK ikt 5540118557 R XS US540 )1 BT AR A AR A
PR FERkRKREEAK (2D 1)

A
ot 4 5 6 7 8 9
— W i (CFU/m1) 0 0 0 0 0 0
K 15 = = = = = =
B <0.001]  <0.001  <0.001  <0.001| <0.001  <0.001
& Kk O F o v A W (ng/L)| HIK| <0.001  <0.001 <0.001 <0.001  <0.001  <0.001
SR <0.001 <0.001]  <0.001  <0.001| <0.001 <0.001
55 <0.03 <0.03  <0.03 <0. 03 <0. 03 <0.03
g% k O 2 o kb & ¥ g/l KK <0. 03 <0. 03 <0. 03 <0.03 <0.03 <0. 03
2] <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0.03
| <0.001]  <0.001  <0.001  <0.001| <0.001  <0.001
~ v H kRN EONAEYW (mg/L) &Kl <0.001 <0.001 <0.001 <0.001  <0.001  <0.001
| <0.0010  <0.001)  <0.001| <0.001| <0.001| <0.001
BE 10.5 15. 2 14. 4 8.7 13.8 14. 7
B ok B A 7 > (mg/L) | HFfX 10.5 12.3 10. 6 7.1 10.7 12.2
) 10.5 13.8 12.5 7.9 12.2 13.4
B 0.8 0.8 0.9 0.8 0.8 1.0
f 1 L] (Toc)  (mg/L) | FfK 0.8 0.8 0.7 0.6 0.8 0.9
¥ 0.8 0.8 0.8 0.7 0.8 1.0
B 7.56 7.55 7.56 7.59 7.58 7.57
pH & K 7.56 7.51 7.54 7.51 7.56 7.53
) 7.56 7.53 7.55 7.55 7.57 7.55
IS e U BRI U B L BE AL B U | Bl
e B U B U BREa L BEAaL BERL|REEAL
531 0.5 0.5 0.5 0.5 0.5 0.5
© () ®IK 0.5 0.5 <0.5 0.5 0.5 <0.5
2 0.5 0.5 0.5 0.5 0.5 <0.5
BE 0.04/  <0.01 0.01 0. 02 0.01 0. 02
V& () B 0. 04 <0. 01 <0.01 <0.01 <0.01 <0. 01
) 0.04  <0.01 <0.01 0. 01 <0.01 0.01
é% 531 0. 70 0. 64 0.73 0.75 0. 68 0. 68
w | B & B R (ne/L) X 0.70 0.61 0. 61 0. 69 0. 65 0. 65
H ¥ 0.70 0.62 0.67 0.72 0. 66 0. 66
n R 0.74  0.70  0.79]  0.80  0.73 0.74
w [ ® i F (mg/L) | HIK 0. 74 0.70 0. 67 0. 74 0.72 0.73
& SEH 0.74 0.70 0.73 4. 00 0.72 0. 74
YA M B % Ko, W % OB ) (ng/L) 1.0 0.9 0.8 0.8 0.6 1.1
B 14.8 23. 4 25. 4 25.9 31.8 29.7
7K B (C) ®E 14. 8 20.8 25. 2 24.3 27.7 27.1
) 14.8 22.1 25.3 25.1 29. 8 28. 4
s 28.1 35.8 33.4 26. 2 31.8 33.6
7 S Vel U o (mg/L) HiX 28.1 33.1 29. 8 24.17 29.2 29.8
— V) 28. 1 34. 4 31.6 25. 4 30.5 31.7
[i%3 £ (mg/L) 3.1 2.0 1.2 1.9 1.4 1.2
fild i3 e = F#  (mg/L) 0.89 0.96 0.63 0. 62 0.63 0.90
i fiiit 2 A % > (mg/L) 17.5 19.0 16.5 16. 7 18.2 18.3
v ¥y A i E (mg/L) 27 32 31 22 28 27
~ J % ¥ v A f# JE  (ng/l) 7 9 8 6 7 8
- & 14. 2 17.3 16. 4 12.6 17.3 17.0
“|E = = H R (mS/m) | HAK 14.2 15. 4 14.2 12.1 14.7 15.6
¥ 14.2 16. 4 15.3 12. 4 16.0 16.3
& 7 [i%3 % (mg/L) 10. 4 8.8 8.1 8.3 7.5 7.4
H 541 0.034)  0.031 0.033|  0.034  0.034/  0.040
s 4 m m K JE BeA|  0.034  0.031  0.032] 0.028 0.032  0.034
) 0.034/  0.031 0.032|  0.031 0.033]  0.037
L H K oo~ v 4 v B8 (mg/L) 0.028|  0.044  0.049 0.015  0.039  0.045
#o% m E (| OE ) (mg/L) 0. 001 0.001 0.001 0.001 0.001 0. 001
7 U 7 b 2K U ¥ v A (fH/200) 0 0

88



10 11 12 1 2 3 [EIEy 54 IR S
0 0 0 0 0 0 23 0 0 0
— — — — — — 23 — — —
<0.001  <0.001| <0.001| <0.001  <0.001| <0.001
<0.001| <0.001  <0.001| <0.001 <0.001| <0.001 23| <0.001  <0.001| <0.001
<0.001  <0.001| <0.001| <0.001  <0.001| <0.001
<0.03]  <0.03| <0.03] <0.03] <0.03  <0.03
<0.03|  <0.03/ <0.03] <0.03] <0.03  <0.03 23| <0.03  <0.03  <0.03
<0.03|  <0.03/ <0.03] <0.03] <0.03  <0.03
<0.001  <0.001| <0.001| <0.001  <0.001| <0.001
<0.001| <0.001  <0.001| <0.001 <0.001 <0.001 23| <0.001  <0.001| <0.001
<0.001  <0.001  <0.001| <0.001| <0.001  <0.001
11.7 14.6 15.8 16.5 16.7 13.6
10. 1 13.5 14.3 14.3 13.1 11.3 23 16.7 7.1 12.7
10.9 14.0 15.0 15. 4 14.9 12. 4
0.9 0.9 0.9 1.0 1.0 0.9
0.8 0.8 0.9 0.9 1.0 0.8 23 1.0 0.6 0.8
0.8 0.8 0.9 1.0 1.0 0.8
7.56 7.55 7.57 7.59 7.55 7.53
7.52 7.54 7.53 7.49 7.54 7. 50 23 7.59 7.49 7.54
7.54 7.54 7.55 7.54 7.54 7.52
B U BERL BEel BRERL BREhl BRERL 23 B
AL BER LU REAL BEAL BEARL BEsL 23 Bl
0.5 0.5 0.5 0.5 0.5 0.5
<0.5 <0.5 <0.5 0.5 <0.5 <0.5 23 0.5 <0.5 0.5
0.5 0.5 0.5 0.5 <0.5 0.5
0. 02 0.03  <0.01 0.01 0.01 0. 02
<0. 01 <0. 01 <0. 01 <0. 01 <0. 01 0. 02 23 0.04  <0.01 <0. 01
0.01 0.02  <0.01 <0. 01 <0. 01 0. 02
0.75 0.71 0.73 0. 84 0.82 0.79
0.67 0. 65 0.71 0.74 0.72 0.75 23 0.84 0.61 0.71
0.71 0. 68 0.72 0.79 0.77 0.77
0. 81 0.77 0.78 0.91 0. 84 0. 84
0.72 0.71 0.77 0. 80 0.79 0. 81 23 0.91 0.67 0.76
0.76 0. 74 0.78 0. 86 0. 82 0.82
0.7 0.8 0.9 1.3 0.9 0.8 12 1.3 0.6 0.9
23.4 18.3 15. 1 11. 4 12.3 14.7
20. 3 18.2 11.7 8.9 11.0 13.0 23 31.8 8.9 19.5
21.8 18.2 13. 4 10. 2 11.6 13.8
32.9 35.8 36.0 35.0 33.4 32.2
29.0 34.0 34.6 30.5 30. 4 30. 6 23 36. 0 24.7 31.6
31.0 34.9 35.3 32.8 31.9 31.4
1.5 2.0 3.9 2.5 1.6 1.6 12 3.9 1.2 2.0
0. 64 1.02 0.96 1.10 1.28 0.84 12 1.28 0. 62 0.87
16.2 19.0 19. 1 19.9 20. 7 17.1 12 20.7 16. 2 18.2
26 32 33 33 32 31 12 33 22 30
7 8 9 9 9 8 12 9 6 8
15.8 17.3 17.5 18.1 18.2 16.0
13.9 16.8 17.4 16.8 15.8 14.8 23 18.2 12.1 15.8
14.8 17.0 17.4 17. 4 17.0 15.4
8.7 9.9 10.7 12.8 12.0 12.0 12 12.8 7.4 9.7
0.036| 0.039 0.036/ 0.045  0.042  0.037
0.035, 0.035  0.036/ 0.038  0.033  0.034 23| 0.045  0.028  0.035
0.036  0.037  0.036/ 0.042  0.038  0.036
0.030  0.038] 0.034  0.031  0.047|  0.041 12 0.049  0.015  0.037
0.001/  0.001 0. 001 0.001/  0.001 0. 001 120 0.001]  0.001|  0.001
0 0 4 0 0 0
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5) BFRAR 7°£7ﬁ FETKAR IR (st 2 98201175 K B OV 27508 2 | ST I 2 KA )

KOS T Aty 2 o (PROS)

TR v TER KRR (2D 2)
A
S 4 5 6 7 8 9
FIv Aok XZF DAY (ng/L) <0.0003  <0.0003| <0.0003| <0.0003 <0.0003| <0.0003
K K O F o b A& B (mg/l) <0. 00005 | <0. 00005| <0. 00005 | <0. 00005/ <0. 00005 <0. 00005
L vk O 0k AW (mg/l) <0.001  <€0.001 <0.001| <0.001  <0.001  <0.001
vt #F &k O E 0 b A W (mg/l) <0.001| <0.001  <0.001| <0.001 <0.001| <0.001
N ofli 7 v oA b A& W (mg/Ll) <0.002 <0.002| <0.002 <0.002| <0.002| <0.002
Moo B o = F (mg/L) <0.004  <0.004| <0.004| <0.004  <0.004 <0.004
ST Uk A Ay R Oy T Y (mg/L) <0.001| <0.001 <0.001 <0.001| <0.001  <0.001
i & ‘ﬂ‘ﬁE%’ﬂf&Uﬁﬁé fg e 2= % (mg/L) 0.89 0. 96 0. 63 0.62 0.63 0.90
7 v # KW o bt & % (mg/L) <0. 08 <0.08 0. 09 <0. 08 0. 09 <0.08
VA N0 D 1t & B (ng/L) 0.1 0.1 0.1 0.1 0.1 0.1
e} iy ﬂ: R #  (mg/L) <0.0002 <0.0002| <0.0002| <0.0002 <0.0002 <0.0002
L4 — ¥ = xF ¥ v (mg/l) <0.005  <0.005 <0.005| <0.005 <0.005  <0.005
{; ‘/1;(2__1’5_7/‘1;; : IV; %9 (mg/L) €0.004) <0.004 <0.004  <0.004  <0.004  <0.004
Y v o wm ow A & v (mg/L) <0.002  <€0.002] <0.002| <0.002  <0.002  <0.002
% F F 7 /7 mur = F L v (mg/l) <0.001  <0.001 <0.001| <0.001  <0.001  <0.001
kYU 7 B v x F L > (mgl) <0.001  <€0.001 <0.001| <0.001  <0.001  <0.001
~ v £ > (mg/L) <0.001  <0.001 <0.001| <0.001  <0.001  <0.001
1 i # e (mg/L) <0. 06 0. 06 <0. 06 <0. 06 0.07 0.07
V4 = = i3 fz  (mg/L) <0.002  <0.002| <0.002| <0.002  <0.002  <0.002
7 = =t N A A (mg/L) 0. 003 0.006|  0.007 0. 005 0.008/  0.009
W\ | V4 =t = fE B (mg/L) <0. 003 0.004  0.004  <0.003 0.004|  0.004
7 v E® s uu A ¥ v (ngl) 0. 003 0.010 0.005 0.003 0. 004 0. 007
2 ES fz  (mg/L) <0. 001 0.005|  0.002 0. 002 0. 001 0. 002
gl b U N m X x v (mg/l) 0.01 0. 027 0.020 0.012 0.019 0. 027
Yy m om EE O (ng/L) <0.003  <0.003 <0.003| <0.003 0.003| <0.003
7 m ® YV oo A % v (ng/L) 0. 003 0.008 0.007 0. 004 0. 007 0. 009
7 = £ A v A (mg/L) 0. 001 0.003/  0.001| <0.001  <0.001 0. 002
A A A 7T A F b R (ng/L) <0.008  <0.008 <0.008| <0.008 <0.008  <0.008
e & = o kb & (mg/L) <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1
TNI=ULKRRZEDOLAEY (ng/L) 0.03 0. 04 0. 06 0.03 0. 05 0. 06
Kk O o b & W (mg/l) <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1
TR T ARKRRZEDOAAEYW (mg/L) 11 14.8 13.1 9.1 11.3 13.1
AT T A TRV N EE)  (ng/L) 34 41 39 28 35 35
7% ¥ 7% e ¥ (mg/L) 88 99 115 75 89 97
ke A4 & v B omE M A (ng/L) <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
v = 3 2 v (ng/L) <1 <1 <1 <1 <1 <1
2= A F ) A VKRNV R F — (ng/L) <1 <1 <1 <1 <1 <1
I A4 A o Fom & M Al (mg/L) <0.005  <0.005 <0.005| <0.005 <0.005  <0.005
7 - J — b (mg/L) <0.0005 <0.0005| <0.0005 <0.0005 <0.0005 <0.0005
T rrTFEUVROBEOAEY (g/L) <0. 002 <0. 002
77 v kO E O A W (mg/l) <0. 0002 <0. 0002
= r Lk OrZEolEY g/l <0. 001 <0. 001
L2- ¥ 7 v om == % ¥ (mg/l) <0. 0004 <0. 0004
~ Jb sl > (mg/L) <0. 04 <0. 04
TZENLBEY Q- F L ~F ) (ng/L) <0.01 <0. 01
=anin b7 F & (mg/L) <€0. 06 <0. 06
s mmr 7t bk="hFU A (mgl) <0. 001 <0. 001
Ej Bk 7 v 7 — 5 (ng/l) <0. 002 <0. 002
2 B ES i <1 <1
& |ilE it 74 s (ng/L) 2.7 1.8 1.1 1.7 1.2 1.1
Hl,1,1- UV 7 mor = &Z v (ng/l) <0. 03 <0. 03
BlxFr-t-7F L= — L (MBE) (ng/L) <0. 002 <0. 002
R 0 G B (TON) 1 1 1 1 1 1
z v g UV 7T B K -1.5 -1.3 -1.3 -1.5 -1.2 -1.3
e BOX & M (CFU/m1) 3 0
Ll — Y 27 guao=xF L > (mg/l) <0.01 <0.01
SV TV a AT B AR g (PFOS) (ng/L) 8 8

90




10 11 12 1 2 3 EIp i AR S
<0.0003 <0.0003 <0.0003 <0.0003 <0.0003| <0.0003 12| <0.0003 <0.0003| <0.0003
<0. 00005 <0.00005| <0. 00005| <0. 00005 <0. 00005 <0. 00005 12/ <0. 00005 <0. 00005 <0.00005
<0.001| <0.001| <0.001 <0.001 <0.001  <0.001 12| <0.001| <0.001  <0.001
<0.001  <0.001| <0.001  <0.001  <0.001| <0.001 12 <€0.001| <0.001  <0.001
<0.002| <0.002 <0.002 <0.002 <0.002  <0.002 12 <0.002| <0.002  <0.002
<0.004  <0.004 <0.004| <0.004 <0.004| <0.004 12/ <0.004 <0.004| <0.004
<0.001  <0.001| <0.001| <0.001  <0.001| <0.001 12 <0.001| <0.001| <0.001
0. 64 1.02 0.96 1.10 1.28 0. 84 12 1.28 0. 62 0. 87
<0.08  <0.08  <0.08/ <0.08  <0.08  <0.08 12 0.09  <0.08  <0.08
0.1 <0. 1 0.1 <0.1 0.1 <0.1 12 <0.1 0.1 <0.1
<0. 0002 <0.0002 <0.0002| <0.0002 <0.0002 <0.0002 12/ <0.0002| <0.0002 <0.0002
<0.005  <0.005  <0.005 <0.005  <0.005 <0.005 12/ <0.005 <0.005  <0.005
<0.004  <0.004| <0.004| <0.004 <0.004  <0.004 12 <0.004| <0.004  <0.004
<0.002| <€0.002] <0.002  <0.002  <0.002| <0.002 12/ <0.002  <0.002 <0.002
<0.001| <0.001| <0.001 <0.001  <0.001  <0.001 12/ <0.001| <0.001  <0.001
<0.001| <0.001| <0.001 <0.001 <0.001  <0.001 12/ <0.001| <0.001  <0.001
<0.001| <0.001| <0.001 <0.001  <0.001  <0.001 12/ <0.001| <0.001  <0.001
<0.06/  <0.06  <0.06  <0.06  <0.06|  <0.06 12 0.07  <0.06/  <0.06
<0.002 <0.002 <0.002| <0.002 <0.002| <0.002 12/ <0.002 <0.002| <0.002
0.008/  0.004  0.005  0.003  0.003] 0.003 12/ 0.009  0.003  0.005
0.003| <0.003| <0.003 <0.003  <0.003| <0.003 12 0.004 <0.003| <0.003
0.004)  0.003  0.006  0.003  0.003]  0.002 12/ 0.010  0.002|  0.004
<0.001| <0.001| <0.001 <0.001  <0.001  <0.001 12/ 0.005 <0.001  0.001
0.018/  0.011  0.019  0.009  0.009|  0.008 12 0.027  0.008] 0.016
0.003| <0.003| <0.003 <0.003  <0.003| <0.003 12 0.003 <0.003| <0.003
0.006/ 0.004  0.006  0.003  0.003]  0.003 12/ 0.009  0.003  0.005
<0.001| <0.001|  0.002] <0.001 <0.001  <0.001 12/ 0.003| <0.001  <0.001
<0.008| <0.008 <0.008  <0.008  <0.008| <0.008 12/ <0.008  <0.008  <0.008
0.1 <0. 1 <0.1 <0. 1 0.1 <0.1 12 <0.1 0.1 <0. 1
0.03 0. 03 0.03 0. 02 0. 02 0.03 12 0. 06 0. 02 0. 04
0.1 <0. 1 <0.1 <0.1 0.1 <0.1 12 <0.1 0.1 <0. 1
10.8 13.7 14.9 15.7 15.5 13.2 12 15.7 9.1 13.0
33 40 42 42 41 39 12 42 28 37
87 102 99 93 101 94 12 115 75 95
<0.02)  <0.02  <€0.02  <0.02/  <0.02|  <0.02 120 <0.02  <0.02]  <0.02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<0.005  <0.005  <0.005 <0.005 <0.005 <0.005 12/ <0.005 <0.005  <0.005
<0. 0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 12/ <0.0005 <0.0005 <0.0005
<0. 002 <0. 002 4 <0.002  <0.002 <0.002
<0. 0002 <0. 0002 4| <0.0002 <0.0002 <0.0002
<0.001 <0. 001 4 <0.001 <0.001  <0.001
<0. 0004 <0. 0004 4| <0.0004 <0.0004 <0.0004
<0. 04 <0. 04 4 <0.04  <0.04] <0.04
<0. 01 <0.01 4/ <0.01  <0.01  <0.01
<0. 06 <0. 06 4 <0.06  <0.06| <0.06
<0. 001 <0. 001 4| <0.001 <0.001  <0.001
<0. 002 <0. 002 4 <0.002  <0.002 <0.002
<1 <1 4 <1 <1 <1
1.3 1.8 3.4 2.2 1.4 1.4 12 3.4 1.1 1.8
<0. 03 <0. 03 4 <0.03  <0.03  <0.03
<0. 002 <0. 002 4| <0.002  <0.002  <0.002
2 1 1 1 1 1 12 2 1 1
-1.4 -1.3 -1.3 -1.4 -1.4 -1.5 12 -2 -1.5 -1.4
1 5 4 5 0 2
<0. 01 <0.01 4 <0.01  <0.01  <0.01
8 <5 4 8 <5 6
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BPRIR  TERMGKERAK (2D 3) EEIE
JE

5 7 10 2 [=1%% B IR )
HH
1,3—y7mrura~X(D—D) @mg/L)| <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
22 —DPA (X 7&K ) (mg/l) <0.0008| <0.0008| <0.0008| <0.0008 4| <0.0008  <0.0008| <0.0008
24 — D (24 — P A ) (mg/L)| <0.0002 <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
E P N (mg/L) | <0.00005 <0.00005| <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
M C P A (mg/L) | <0.0003 <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
T v = = 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
T +* 7 - —  (mg/L) | <0.00006 <0.00006| <0.00006/ <0.00006 4| <0.00006| <0.00006 <0.00006
7 k 7 4 > (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 = =4 N A (mg/L) | <0.00005/ <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
T N S = A (mg/L) | <0.0003  <0.0003  <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 = 4 = — JL (mg/L) | <0.0003| <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
A4 Y F Y F A  (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
A4 Y 7 = ¥ A& A (mg/L)| <0.00003 <0.00003| <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
AV 7ahr7 (MIPC) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
AV 7aFF 7 (IPT) mg/L) <0.003 <0.003 <0.003 <0.003 4 <0. 003 <0. 003 <0. 003
A4 7 XK A(IBP) (mg/L) <0.0009| <0.0009| <0.0009| <0.0009 4| <0.0009  <0.0009| <0.0009
A4 2 7 7 & ¥ v (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006 <0.00006
A4 ¥ KX /7 7 7 ¥ (mg/L)| <0.00009 <0.00009 <0.00009 <0.00009 4| <0.00009| <0.00009 <0.00009
— X 7 v H 7 (mg/L)| <0.0003  <0.0003 ~ <0.0003| <0.0003 4| <0.0003| <0.0003  <0.0003
= N 7 = ¥ 7 ma v 7 A (mg/L)| <0.0008 <0.0008  <0.0008 <0.0008 4| <0.0008| <0.0008/ <0.0008
TURZNNT 7o (R ) (mg/L) | <0.0001  <0.0001  <0.0001  <0.0001 4 <0.0001| <0.0001| <0.0001
F F ¥ ¥ 7 g R A (mg/L)| <0.0002 <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
T X > 8 (A ¥ 8 ) (ng/L) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
= U B X k2 B ¥ (mg/L)
Vil z B N A (mg/L) | €0.000006| <0.000006| <0. 000006/ <0.000006 4| <0. 000006 <0. 000006/ <0. 000006
B 7 x= ¥ A kv — JL (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008 <0.00008
7 v o D4 7" (mg/L)
B N U b (N A C ) (mg/L)| <0.0003 <0.0003| <0.0003 <0.0003 4| <0.0003| <0.0003| <0.0003
77 Y Z v (mg/L) [ <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
¥ /7 732 (A CN ) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005/ <0.00005
% x - i v (mg/L) <0. 003 <0. 003 <0. 003 <0.003 4 <0. 003 <0. 003 <0. 003
Y S 1% =d > (mg/L) | <0.0003| <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
v U AN B —  (mg/L) 0. 02 0. 02 €0. 02 0. 02 4 <0. 02 <0. 02 <0. 02
7 v R Y 3% — b (mg/L)| <0.0002 <0.0002  <0.0002 ~ <0.0002 4| <0.0002| <0.0002|  <0.0002
7 o m A 7 v v 7 (mg/L)| <0.0002  <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
sl =ra 7= (CNP) (mg/L)| <0.0001 <0.0001  <0.0001| <0.0001 4 <0.0001| <0.0001| <0.0001
7 m b B U R A (mg/L)[| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
smua o=/, (TPN) mL)|[ <0.0005 <0.0005 <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
D4 7 > D4 > (mg/L) | <0.00001| <0.00001 <0.00001| <0.00001 4| <0.00001| <0.00001| <0.00001
> 7 J A A (CY AP ) (mg/L)| <0.00003 <0.00003 <0.00003| <0.00003 4| <0.00003| <0.00003 <0.00003
v nra Yy (DCMU ) (mg/L)| <0.0002 <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
Y7 X=)(DBN) (mg/lL) <0.0003| <0.0003| <0.0003| <0.0003 4/ <0.0003| <0.0003  <0.0003
7 ma )R A (DDVP) (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008 <0.00008
¥ 7 1Z D k (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
AR I (= F )V F A ARL) (mg/L) | <0.00004| <0.00004| <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
CFF I N A— R A (ng/L)
D% I 7 | JL (mg/L) | <0.00009 <0.00009| <0.00009 <0.00009 4 <0.00009| <0.00009| <0.00009
oo m ok vy 7 7 F b (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006/ <0.00006
v o= ¥ v (. C A T ) (mg/L)| <0.00003 <0.00003 <0.00003| <0.00003 4| <0.00003| <0.00003 <0.00003
v X X A Kk U v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4/ <0.0002| <0.0002|  <0.0002
D% A K - — ~ (mg/L) | <0.0005  <0.0005/ <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
¥ A k D) > (mg/L) | <0.0003| <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
v A T D4 J > (mg/L) | <0.00003| <0.00003| <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
v A VN i v (mg/L) <0.008 <0.008 <0.008 <0.008 4 <0. 008 <0. 008 <0. 008
AR, fﬁA‘(iJ—/*‘A)&U“%% (ng/L)
A FFT T F—h
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S e ¥ = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
SF 7 S 2 (mg/L) | <0.0002| <0.0002| <0.0002|  <0.0002 4| <0.0002| <0.0002|  <0.0002
F 4 ¥ J b 7 (mg/L)| <0.0008  <0.0008  <0.0008  <0.0008 4| <0.0008| <0.0008  <0.0008
F A 7 7 — K A F )L (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
F & N v v 7 (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 7 U v b U F v (mg/L)

T T AT (MBPMC) (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
[N ) V4 =4 = JL (mg/L) | <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006/ <0.00006
FY Zwma k> (DEP) (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
U Yy Z T — b (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
KU 7 o Z U v (mg/L)| <0.0006/ <0.0006 ~ <0.0006  <0.0006 4| <0.0006| <0.0006/ <0.0006
7+ A = A N R (mg/L) | <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A = = — k (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
= ~ =4 IR A (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005 <0.00005
= = 7 =] = L (mg/L)

7 Y ¥ ¥ 7 = » (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
IV YR —hk (YL —hK) (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
U X 7 = v F F  (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
vy 7 F H v 7 (mg/L)| <0.0002] <0.0002 ~ <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
= =4 ¥ = > (mg/L) | <0.0005 <0.0005 ~ <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
7 € A = = JL (mg/L) | <0.000005| <0.000005 <0.000005 <0.000005 4| <0.000005| <0.000005| <0. 000005
Zx=hruaF At (MEP) @mg/)| <0.0001 <0.0001  <0.0001 <0.0001 4| <0.0001| <0.0001| <0.0001
7 /)7 H)L T (BPMC) (mg/L)| <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
7 = U N ' v (mg/L)

7 xr F A (MPP) (mg/L)| <€0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006 <0.00006
7z — K (PAP) (mg/L)| <€0.00007 <0.00007 <0.00007 <0.00007 4| <0.00007| <0.00007 <0.00007
7 = v b T F I K (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001 4 <0.0001| <0.0001| <0.0001
7 A = A K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
7 % 4 = — JL (mg/L)| <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
7 vl g 7N Z (mg/L) | <0.0002| <0.0002| <0.0002|  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 7 um 7 = ¥ v (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 v 7 ¥ A (mg/L)| <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
7 v F T 7 v — Jb (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
- =] D4 =4 K > (mg/L) <0.0009| <0.0009  <0.0009| <0.0009 4/ <0.0009| <0.0009  <0.0009
7 u F A &K A (mg/L)

7 m v =2 Y — b (mg/L)| <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
A = = A N K (mg/L) | <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
7 v X S Y — ) (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003  <0.0003| <0.0003
7 =i £ 7 I K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~ J R JL (mg/L) | <0.0002]  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002| <0.0002
~ Nz 2 4 = v (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
N v Y v v 7 v v (mg/L)| <0.0009 <0.0009  <0.0009  <0.0009 4| <0.0009| <0.0009| <0.0009
~N v Y 7 = F w7 (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
~ v i ' > (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
N T 4 A KX U v (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
~N T Z JL 7 (mg/L)| <0.0004 <0.0004  <0.0004  <0.0004 4| <0.0004| <0.0004| <0.0004
N7 (X2 ) (mg/L) | <0.0001  <0.0001  <0.0001  <0.0001 4| <0.0001| <0.0001| <0.0001
~N v 7 L & — b (mg/L)| <0.0007 <0.0007  <0.0007  <0.0007 4| <0.0007| <0.0007,  <0.0007
A A F 7 £ — b (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
~ 7 F A (~F Y ) (mg/l) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
Aa 7 uay 7 (MCPP) (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
A Y S JL (mg/L) | <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A A 7 % > )L (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
AF X F F > (DMTP) (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
A K~ I J A b m B ¥ (ng/L)| <0.0004 <0.0004  <0.0004  <0.0004 4 <0.0004| <0.0004| <0.0004
A k ) 7 ¥ > (mg/L) | <0.0003| <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A 7 = F v b (mg/L) <0.0002| <0.0002  <0.0002| <0.0002 4 <0.0002| <0.0002  <0.0002
A A =4 = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
S D) s — ~ (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
=3 $E $H  (mg/L) <1 <1 <1 <1 4 <1 <1 <1
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